
1

ALUMINIUM FENCE
SYSTEMS

A
LU

M
IN

IU
M

 F
E

N
C

E
 S

Y
S

T
E

M
S

2
0

2
3

/2
0

2
4

2023/2024

1993-2023
YEARS



thermal expansion 0,02mm/1m/1°C

6 - 11

12 - 15

4018 - 21

16 - 17

MODEL 14

MODEL 20

1

 3

MODEL 17

 2 

4
SWING GATE

2



22 - 29

30 - 35

46 - 64

34 - 45

7
ROLLING GATE

8
PRÍSLUŠENSTVO 

DOUBLE SWING GATE

5

CANTILEVER GATE

 6 

3



thermal expansion 0,02mm/1m/1°C4

 1 ALUMINIUM FENCE 
MODEL 20 



5

LAMEL SYSTEM
MODEL 20

MODEL 20 /S1                   70x70 / 80x80

MODEL 20 /M1                 

MODEL 20 /S2                   70x70 / 80x80

MODEL 20 /M2                   

FENCE SYSTEM

FENCE SYSTEM

FENCE SYSTEM

FENCE SYSTEM



thermal expansion 0,02mm/1m/1°C

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
2

0

1

3

250

6

LAMEL SYSTEM MODEL 20

120

22
00
,,6

138

Material Finish Effect art. L

ALUMINIUM natural RAL 
7016

AL/4359-1800-R7016 1800

AL/4359-6000-R7016 6000

Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/4308-1800-R7016 1800

AL/4308-6000-R7016 6000

Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/4307-1800-R7016 1800

AL/4307-6000-R7016 6000

GLASS

Material art. L

PVC A19/4305-2500-LED 1800

Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/4305-1800-R7016 1800

AL/4305-6000-R7016 6000

1,3

2
5

1
8
,2

22
00
,,66

8,4LED

GLASS

LED

2200,,66

b

tt

Material Finish Effect art. L b t
AL/4377-6000-R7016

6000

80
2

ALUMINIUM natural
RAL
7016

AL/4378-6000-R7016
100

AL/4378b-6000-R7016 1,4

AL/4379-6000-R7016
120

2

AL/4379b-6000-R7016 1,5

AL/4380-6000-R7016
150

2

AL/4380-6000-R7016 1,7

AL/4381-6000-R7016
200 1,9

AL/4381-7000-R7016 7000

+

PLATE PLATE

Material Finish art.

ALUMINIUM

RAL 7016

YDG08AL04-1830x0250/7016G

ALUMINIUM YDG08AL02-1830x0250/7016G

ALUMINIUM YDG08AL02-1830x0125/7016G

7

18,6

1
8

1
9
,2

2200,,66

Material Finish Effect art. L

ALUMINIUM natural RAL 
7016

AL/4360-1800-R7016 1800

AL/4360-6000-R7016 6000

20,6 

 18,6 

 2
1
 

 6
2
,3

 

 18,3 

 18 

 1
0

 

 5
1

,3
 

 1
8

 

20,6 

 2
9

,6
 

 18 

 18,6 

 1
9

,2
 

20,6 

a b

c d

a

b

c

d

GLASS

PLATE

Rubber 
not included

PLATE

GLASS1800

2
5

0 t

Quality art. t

VSG/ESG 6.6.2 GS/12,76-1800x250-VSG/ESG 12,76

VSG/ESG 8.8.2 GS/16,76-1800x250-VSG/ESG 16,76

VSG/ESG 8.8.4 GS/17,52-1800x250-VSG/ESG 17,52

steel Zn -
ZN/4377-6000-N 80

1,2ZN/4378-6000-N 6000 100

ZN/4379-6000-N 120

2200,,66

b

tt

Material Finish Effect art. L b t

ALUMINIUM natural
RAL
7016

AL/4375-6000-R7016

6000

20 1,5

AL/4373-6000-R7016 30 1,3

AL/4374-6000-R7016 40 1,2

AL/4375-6000-R7016 50 2

AL/4376-1800-R7016 1800
55 1,5

AL/4376-6000-R7016 6000



AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
2

0

1

7

LAMEL SYSTEM MODEL 20

8

120

Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/4328-1800-R7016 1800

AL/4328-6000-R7016 6000

4
,5

2
5

Material Effect art.

PVC RAL
7016 A19/2545-R7016

20,6

1
3
0

5

1
0

5

Material Finish art. Surface 
treatment

WPC

YDC05H1830x258x20-G brushed

YDC05A1830x258x20-G brushed

YDC05S1830x258x20-G brushed

YDC05O1830x258x20-G brushed

YDC06O1830x258x20-G wood effect

YDC06H1830x258x20-G wood effect

Material Finish art.

ALUMINIUM RAL7016 YDG03AL02-1850/7016-G

top aluminium bar

Material Finish art.

ALUMINIUM RAL7016 YDG03AL02-1850/7016-G

bottom aluminium bar

3
9

20

1

3
0

3 7

ø 3

GLASS GLASSPLATE PLATE

SUPPORT BRACE CHANNEL - Recommended for panels wider than 2 meters

5 1
8

or
A19/4477C

6.
6

36

14

40

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9449-6000-R7016

silver AL/9449-6000-N

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9450-6000-R7016

silver AL/9450-6000-N

Material Finish Effect art.

ALUMINIUM natural RAL
7016 AL/4477-1500-R7016

a

b

a

 25,8 

 1
2
 

 3
0

,5
 

 1
7

 

 25,8 

 24,3  

a bor

a bor



thermal expansion 0,02mm/1m/1°C

image for illustration purposes only

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
2

0

1

8

or

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural RAL 
7016

AL/3950-1850-R7016 1850
20

AL/3950-6000-R7016 6000

7
0

70

1,2

2200,,66

3
8

1
6

38 16

2a
3a

Lamel system 20

2
3a

4

5

6

7

70x70 alt.1 / 80x80 alt.2 TECHNICAL DETAILS

COMPONENTS

Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/3948-20-R7016 20

AL/3948-1850-R7016 1850

AL/3948-6000-R7016 6000

A19/3950C-R7016 1,3
2
5

1
8
,2

22
00
,,66

8,4

Quality Finish use art. AL/.. AL/.. AL/.. AL/.. AL/.. AL/.. AL/.. A/4,2x13

ANODIZED 
ALUMINIUM natural on post AL/S111-2000 4x

(6000mm)
1x

(6000mm)
2x 1850mm
20x 20mm 2x 1x

(6000mm) 2x 2x 4x

a

b

3
0
0

1
0

120

Fe(Zn)

Material Finish Effect art.

ALUMINIUM natural silver AL/5234-N

4a

A-DIN 7504P 4,2x13

Q5/08-M8x80

GLASS LEDPLATE

AIR 20

FENCE SYSTEM MODEL 20/S1

3a

2b
Material Finish Effect art. L LAMEL 

system

ALUMINIUM natural
RAL
7016 AL/8080-6000-R7016

6000 20
silver AL/8080-6000-N

A19/8081-...

 80 

 8
0
 

alt.1

alt.2

 8
 

 140x140 

 3
00

 

 70x30x3 

Material Finish Effect art.

steel Zn silver AL/5235-N

4b

3b

AL/3948-...

3a

Q5/08-M8x80

AL/8080-CAP

3b
Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/8081-20-R7016 20

AL/8081-6000-R7016 6000

5a

5b

70x70 alt.1 / 80x80 alt.2FENCE SYSTEM MODEL 20/S1

Quality Finish axb
AL/4359-

1800-R7016
AL/4360-

1800-R7016
AL/3948-

1850-R7016
AL/5234-N

AL/3950-
1850-R7016

A19/3950C-
R7016

A-DIN 7504P 
4,2x13

Q5/08-M8x80

ANODIZED 
ALUMINIUM natural 1850x1908 15x

(1800mm)
1x

(1800mm)
4x

(1850mm) 2x 2x
(1850mm) 2x 4x 8x

LAMEL 
SYSTEMS 6-7

end cap

end cap

5 1
8

A19/SOLAR80-CAP

80 80



AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
2

0

1

9

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural
RAL 

7016 AL/3644-6000-R7016
6000 20

silver AL/3644-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL 

7016 AL/3648-6000-R7016
6000

silver AL/3648-6000-N

8b

30

4
8

22
00
,,66

8a
Material Finish Effect art. L LAMEL 

system

ALUMINIUM natural RAL
7016 AL/4407-6000-R7016 6000 20

A19/4407C-R7016

AL/3644C-...

image for illustration purposes only

Quality Finish art.

AISI304 raw A-DIN 7504P 
4,2x13

a

b

GLASS PLATE

LED AIR 20

TECHNICAL DETAILSFENCE SYSTEM MODEL 20/M1

Lamel system 20

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural RAL
7016 AL/5025-1850-R7016 1850 20

8

3a
Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/3948-20-R7016 20

AL/3948-1850-R7016 1850

AL/3948-6000-R7016 6000

1,3

2
5

1
8
,2

22
00
,,66

8,4

FENCE SYSTEM MODEL 20/M1 COMPONENTS

Quality Finish use axb
AL/4359-

1800-R7016
AL/4360-

1800-R7016
AL/3644-
6000-...

A-DIN 7504P 
4,2x13

AL/3648-
6000-...

AL/3644C-...

ANODIZED 
ALUMINIUM natural on wall

(concrete)
100x1800 8x

(1800mm)
1x

(1800mm)
1x

(6000mm) 12x 1x 2x

LAMEL 
SYSTEMS 6-7

8c

3
5

5
0

25

2
0

16

3

8 3

1
,5

2
0

,6
2
7

1

11

8

Material Finish Effect art. L

ALUMINIUM natural RAL
7016

YDG03AL02-1850/7016-G 1850

end cap

end cap

or

or



thermal expansion 0,02mm/1m/1°C

image for illustration purposes only

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
2

0

1

10

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural RAL 
7016

AL/3950-1850-R7016 1850
20

AL/3950-6000-R7016 6000

7
0

70

1,2

2200,,66

3
8

1
6

38 16

2

Lamel system 20

4

70x70 

HORIZONTAL ROVNÉ - MODEL S2 - STĹPIK 70x70

TECHNICAL DETAILS

COMPONENTS

5

A19/3950C-R7016

Quality Finish use art. AL/.. AL/.. AL/.. AL/.. AL/.. AL/.. AL/.. A/4,2x13

ANODIZED 
ALUMINIUM natural on post AL/S111-2000 4x

(6000mm)
1x

(6000mm)
2x 1850mm
20x 20mm 2x 1x

(6000mm) 2x 2x 4x

a

b

Material Finish Effect art.

ALUMINIUM natural silver AL/5234-N

4
A-DIN 7504P 4,2x13

Q5/08-M8x80

FENCE PROFILE MODEL 20/S2

4
,5

2
5

Material Effect art.

PVC RAL
7016 A19/2545-R7016

3a
Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/3948-20-R7016 20

AL/3948-1850-R7016 1850

AL/3948-6000-R7016 6000

1,3

2
5

1
8
,2

22
00
,,66

8,4

Quality Finish axb art.
AL/4328-

6000-R7016
A19/2545-R7016 AL/5234-N

AL/3950-
6000-R7016

A19/3950C-R7016

ANODIZED 
ALUMINIUM natural 1510x1908 AL/S31-2000 4x

(6000mm) 20x 2x 1x
(6000mm) 2x

Fence total 
height

lamel 
count

1010 mm 8x  (n=7)

1135 mm 9x  (n=8)

1260 mm 10x (n=9)

1385 mm 11x (n=10)

1510 mm 12x (n=11)

1635 mm 13x (n=12)

1760 mm 14x (n=13)

1885 mm 15x (n=14)

height calculation formula 
 130+n(130-5)+5

ANGLE

20,6

1
3
0

5

1
0

5

3
0
0

1
0

120

Fe(Zn)

end cap

3a

3b

3b

2

axb  1510 x ...



AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
2

0

1

11

HORIZONTAL ROVNÉ - MODEL M2 - MÚR

30

4
8

22
00
,,66

8a
Material Finish Effect art. L LAMEL 

system

ALUMINIUM natural RAL
7016 AL/4407-6000-R7016 6000 20

A19/4407C-R7016

image for illustration purposes only

Quality Finish art.

AISI304 raw A-DIN 7504P 
4,2x13

TECHNICAL DETAILSFENCE PROFILE MODEL 20/M2

a

b

Lamel system 20 8a

4
,5

2
5

Material Effect art.

PVC RAL
7016 A19/2545-R7016

3a
Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/3948-20-R7016 20

AL/3948-1850-R7016 1850

AL/3948-6000-R7016 6000

1,3

2
5

1
8
,2

22
00
,,66

8,4

Quality Finish axb art. AL/4328-6000-R7016 A19/2545-R7016 AL/4407-6000-R7016 A19/4407C-R7016

ANODIZED 
ALUMINIUM natural 1510x1908 AL/M31-2000 4x

(6000mm) 20x 1x
(6000mm) 2x

end cap

3b

axb  1510 x ...



thermal expansion 0,02mm/1m/1°C12

 2 ALUMINIUM FENCE 
MODEL 17 



13

LAMEL SYSTEM
MODEL 17

FENCE SYSTEM
MODEL 17 /S1                       80x80

FENCE SYSTEM
MODEL 17 /S2                       100x100

FENCE SYSTEM
MODEL 17 /M1        

FENCE SYSTEM
MODEL 17 /M2       



thermal expansion 0,02mm/1m/1°C

16

80

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9464-6000-R7016

6000
silver AL/9464-6000-N

A19/5404C-R7016

2

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
17

2

16

30

25
.6

100

61

14

17

107

17

107

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/7327-6000-R7016

6000
silver AL/7327-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/7653-6000-R7016

6000
silver AL/7653-6000-N

17

152

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9463-6000-R7016

6000
silver AL/9463-6000-N

LAMEL SYSTEMS MODEL 17

Material Finish Effect art. L

ALUMINIUM natural RAL
7016 AL/8016-2500-R7016 2500

100

9
5
,5

2
4

61

+

Material Finish Effect art. L

ALUMINIUM natural RAL
7016 AL/3016-2500-R7016 2500

SUPPORT BRACE CHANNEL - Recommended for panels wider than 2 meters

86 Ø4,2

or
A19/4477C

6.
6

36

14

40

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9449-6000-R7016

silver AL/9449-6000-N

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9450-6000-R7016

silver AL/9450-6000-N

Material Finish Effect art.

ALUMINIUM natural RAL
7016 AL/4477-1500-R7016

a

b

a

 25,8 

 1
2
 

 3
0

,5
 

 1
7

 

 25,8 

 24,3  

a bor

a bor



AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
17

2

15

LAMEL SYSTEMS MODEL 17



thermal expansion 0,02mm/1m/1°C16

• The horizontal profile can be combined with 8 mm glass.

Quality Finish axb
AL/7327-..
AL/7653-..

AL/4228-.. A19/4227C AL/8080C-.. AL/8080-.. A-DIN 7504P A19/8337C AL/4227-..

ANODIZED 
ALUMINIUM natural 750x2000 2x

(6000mm)
1x

(6000mm) 2x 1x
(6000mm)

1x
(6000mm) 16x 2x 2x

8.
5

18.2

17

COMPONENTS

4
Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/4228-6000-R7016

6000
silver AL/4228-6000-N

image for illustration purposes only

Top Cap

Top Cap2

3

80x80 Square Post1 Base Connector

6

Adapter Profile5

Lamel system 17

GLASS

80x80 TECHNICAL DETAILSFENCE SYSTEMS MODEL 17/S1

80x80 FENCE SYSTEMS MODEL 17/S1

Self Tapping 
Screw

4

9

1
4

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
17

2

 1
Material Finish Effect art. L LAMEL 

system

ALUMINIUM natural
RAL
7016 AL/8080-6000-R7016

6000 20
silver AL/8080-6000-N

A19/8081-...

 80 

 8
0
 

alt.2

 8
 

 140x140 

 3
00

 

 70x30x3 

Material Finish Effect art.

steel Zn silver AL/5235-N

 6

Q5/08-M8x80

AL/8080-CAP

A19/SOLAR80-CAP
3b

Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/8081-20-R7016 20

AL/8081-6000-R7016 6000

2

80 80

end cap

30

40

17

17

5
Material Finish Effect art. L LAMEL 

system

ALUMINIUM natural
RAL
7016 AL/4227-6000-R7016

6000 17
silver AL/4227-6000-N

3

A19/4227C-...

alternative 1

+



17

8.
5

18.2

17

30

40

17

17

5 4
Material Finish Effect art. L LAMEL 

system

ALUMINIUM natural
RAL
7016 AL/4227-6000-R7016

6000 17
silver AL/4227-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/4228-6000-R7016

6000
silver AL/4228-6000-N

3

A19/4227C-...

• The horizontal profile can be combined with 8 mm glass.

Quality Finish axb
AL/7327-..
AL/7653-..

AL/4228-.. AL/4227C-.. A-DIN 7504P AL/4227-..

ANODIZED 
ALUMINIUM natural 750x2000 2x

(6000mm)
1x

(6000mm) 2x 16x 2x

image for illustration purposes only

COMPONENTS

Quality Finish art.

AISI304 raw A-DIN 7504P 4,2x16

9

Lamel system 17

GLASS

TECHNICAL DETAILSFENCE SYSTEMS MODEL 17/M1

 2
5

,8
 

 12 

 30,5 

 17 

 2
5

,8
 

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural RAL
7016 AL/4488-1700-R7016 1700 17

5

3

A19/4488C

alternative 1

alternative 2

FENCE SYSTEMS MODEL 17/M1

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
17

2

5

a

b

or



thermal expansion 0,02mm/1m/1°C

Fence with angled louver profiles.

100

10
0

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9465-6000-R7016

6000
silver AL/9465-6000-N

3

AL/5405C-R7016

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9464-6000-R7016

6000
silver AL/9464-6000-N

 4

A19/5404C-R7016

 1

Quality Finish art.

AISI304 raw A-DIN 7504P 4,2x16

Quality Finish art.

AISI304 raw A-DIN 975-1587 M10x100

art.             ml quality

Q5/01B-300

  vinylesterQ5/01B-400

Q5/01B-400 Winter

Material Finish Effect art.

steel Zn RAL
7016 AL/5402-R7016

5 6

7
2

100x100 Post 1

Adapter Profile2

Alu Cap
3 Plastic Cap

 4

Quality Finish use art. AL/.. AL/.. AL/.. AL/.. AL/.. A-KSG... AL/..

ANODIZED 
ALUMINIUM natural on post AL/S33-2000 3x

(6000mm)
1x

(6000mm)
1x

(6000mm) 2x 2x 4x 2x

Self Tapping 
Screw

7

Base Bracket Foot

5

6

Lamel system 17

100x100 TECHNICAL DETAILSFENCE SYSTEMS MODEL 17/S2

COMPONENTS100x100 FENCE SYSTEMS MODEL 17/S2

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
17

2

25
.6

100

61

18



Quality Finish art.

AISI304 raw A-DIN 7504P 4,2x16

Fence with angled louver profiles.

Quality Finish use art. AL/.. AL/.. AL/..

ANODIZED 
ALUMINIUM natural on post AL/S33-2000 3x

(6000mm)
1x

(6000mm) 2x

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9464-6000-R7016

6000
silver AL/9464-6000-N

 4

A19/5404C-R7016

Quality Finish art.

AISI304 raw A-DIN 7504P 4,2x16

art.             ml quality

Q5/01B-300

  vinylesterQ5/01B-400

Q5/01B-400 Winter

7
2

a

b

Lamel system 17

TECHNICAL DETAILSFENCE SYSTEMS MODEL 17/M2

COMPONENTSFENCE SYSTEMS MODEL 17/M2

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
17

2

25
.6

100

61

19

2
100

9
5
,5

2
4

61



thermal expansion 0,02mm/1m/1°C20

 3 ALUMINIUM FENCE 
MODEL 14 



21

LAMEL SYSTEM
MODEL 14

FENCE SYSTEM
MODEL 14 /S1                      60x60

FENCE SYSTEM
MODEL 14 /S2                      60x60

FENCE SYSTEM
MODEL 14 /S3                      60x60

FENCE SYSTEM
MODEL 14 /M1                      

FENCE SYSTEM
MODEL 14 /M2                      

FENCE SYSTEM
MODEL 14 /M3                      



thermal expansion 0,02mm/1m/1°C

14

95

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9453-6000-R7016

6000
silver AL/9453-6000-N

14

100

14

100

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9477-6000-R7016

6000
silver AL/9477-6000-N

Material Finish Effect art. L

ANODIZED 
ALUMINIUM natural

RAL
7016 AL/9451-6000-R7016

6000
silver AL/9451-6000-N

100.00

13.50

150.00

13.50

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
14

3

Material Finish Effect art. L

ALUMINIUM natural RAL
7016 AL/9475-6000-R7016 6000

Material Finish Effect art. L

ALUMINIUM natural RAL
7016 AL/9476-6000-R7016 6000

70

22

LAMEL SYSTEMS MODEL 14

37

1
4

8
4
,5

17
.5

60

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9452-6000-R7016

6000
silver AL/9452-6000-N

A19/5403C-R7016

14

100

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9478-6000-R7016

silver AL/9478-6000-N A19/5406C-R7016

lamel end cap

+

37Ø4,2



AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
14

3

23

or

LAMEL SYSTEMS MODEL 14

A19/4477C

6.
6

36

14

40

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9449-6000-R7016

silver AL/9449-6000-N

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9450-6000-R7016

silver AL/9450-6000-N

Material Finish Effect art.

ALUMINIUM natural RAL
7016 AL/4477-1500-R7016

a

b

SUPPORT BRACE CHANNEL - Recommended for panels wider than 2 meters

a

 25,8 

 1
2
 

 3
0

,5
 

 1
7

 

 25,8 

 24,3  

a bor

a bor



thermal expansion 0,02mm/1m/1°C

Post Cap

Quality Finish art.

AISI304 raw A-DIN 7504P 4,2x16

7

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
14

3

24

3

60x60 
Post Profile

1a

1b

Detail A

Post Cover

4,2x16
Self Tapping Screw

74

2a

Base Connector

6

5
image for illustration purposes only

COMPONENTS

14

6.7

56

16

6.
7

60

60

58

58

60

60

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9458-6000-R7016

6000
silver AL/9458-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9460-6000-R7016

6000
silver AL/9460-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9480-6000-R7016

6000
silver AL/9480-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9481-6000-R7016

6000
silver AL/9481-6000-N

3

AL/5352C-R7016

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9459-6000-R7016

6000
silver AL/9459-6000-N

2a 41a

1b 2b

Fence with patterned horizontal profile and flat surface profile.

Quality Finish axb
AL/9451-..
AL/9477-..

AL/9458-.. AL/9459-.. AL/9460-.. AL/5400-N A-DIN 975 A-DIN 7504P AL/5352C-..

ANODIZED 
ALUMINIUM natural 1500x2000 5x

(6000mm)
1x

(6000mm)
1x

(6000mm)
1x

(6000mm) 2x 4x 34x 2x

Lamel system 14

60x60 TECHNICAL DETAILSFENCE SYSTEMS MODEL 14/S1

3

AL/5352C-R7016

6

A-DIN 975-1587 
M10x100

ZN/5400-N5

6

A-DIN 975-1587 
M10x100

ZN/5400-N5

60x60 FENCE SYSTEMS MODEL 14/S1

AL/9459-6000 
CUT TO SPECIFIC LENGTH (DISTANCE)4

4



AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
14

3

25

image for illustration purposes only

COMPONENTS

Quality Finish art.

AISI304 raw A-DIN 7504P 4,2x16

9

14

6.7

56

16

6.
7

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9460-6000-R7016

6000
silver AL/9460-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9459-6000-R7016

6000
silver AL/9459-6000-N

2a 4

art.             ml quality
Q5/01B-300

  vinylesterQ5/01B-400

Q5/01B-400 Winter

Fence with patterned horizontal profile and flat surface profile.

Quality Finish axb
AL/9451-..
AL/9477-..

AL/9458-.. AL/9459-.. AL/9460-.. AL/5400-N A-DIN 975 A-DIN 7504P AL/5352C-..

ANODIZED 
ALUMINIUM natural 1500x2000 5x

(6000mm)
1x

(6000mm)
1x

(6000mm)
1x

(6000mm) 2x 4x 34x 2x

Lamel system 14

TECHNICAL DETAILSFENCE SYSTEMS MODEL 14/M1

60

60

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural
RAL
7016 AL/9458-6000-R7016

6000 14
silver AL/9458-6000-N

1a

3

AL/5352C-R7016

6

A-DIN 975-1587 
M10x100

ZN/5400-N5

FENCE SYSTEMS MODEL 14/M1

AL/9459-6000 
CUT TO SPECIFIC LENGTH (DISTANCE)4

4

14

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural RAL
7016 AL/4489-1700-R7016 1700 14

5

+

5



thermal expansion 0,02mm/1m/1°C

Fence with angled louver profiles.

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9452-6000-R7016

6000
silver AL/9452-6000-N

10

A19/5403C-R7016

9

Quality Finish use art. AL/.. AL/.. AL/.. AL/.. AL/.. AL/.. A-DIN 975.. AL/..

ANODIZED 
ALUMINIUM natural on post AL/S32-2000 3x

(6000mm)
1x

(6000mm)
1x

(6000mm)
1x

(6000mm)
1x

(6000mm) 2x 4x 2x

art.             ml quality
Q5/01B-300

  vinylesterQ5/01B-400

Q5/01B-400 Winter

5

6

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
14

3

26

14
6.7

56

16
6.

7
60

60

58

58

60

60

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9458-6000-R7016

6000
silver AL/9458-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9460-6000-R7016

6000
silver AL/9460-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9480-6000-R7016

6000
silver AL/9480-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9481-6000-R7016

6000
silver AL/9481-6000-N

3

3

AL/5352C-R7016

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9459-6000-R7016

6000
silver AL/9459-6000-N

2a

4

1a

1b 2b

AL/5352C-R7016

AL/5400-N

A-DIN 975-1587 
M10x100

60x60 
PostProfile

1a

Post Cap3Plastic Cap 10

Base Connector

5

6

Lamel system 14

COMPONENTS

60x60 TECHNICAL DETAILSFENCE SYSTEMS MODEL 14/S2

60x60 FENCE SYSTEMS MODEL 14/S2

Cover2a

Self Tapping 
Screw

7

8                Lamel profile

1a
60x60 

PostProfile
9 Adapter Profile

17
.5

60

37



Quality Finish art.

AISI304 raw A-DIN 7504P 4,2x16

7

Fence with angled louver profiles.

Quality Finish use art. AL/.. AL/.. AL/.. AL/.. AL/.. AL/.. A-DIN 975.. AL/..

ANODIZED 
ALUMINIUM natural on post AL/S32-2000 3x

(6000mm)
1x

(6000mm)
1x

(6000mm)
1x

(6000mm)
1x

(6000mm) 2x 4x 2x

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9452-6000-R7016

6000
silver AL/9452-6000-N

10

A19/5403C-R7016

9 art.             ml quality
Q5/01B-300

  vinylesterQ5/01B-400

Q5/01B-400 Winter

5

6
6.7

56

14

16

6.
7

60

60

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9458-6000-R7016

6000
silver AL/9458-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9460-6000-R7016

6000
silver AL/9460-6000-N

3

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9459-6000-R7016

6000
silver AL/9459-6000-N

2a

4

1a AL/5352C-R7016

AL/5400-N

A-DIN 975-1587 
M10x100

AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
14

3

27

a

b

Lamel system 14

COMPONENTS

TECHNICAL DETAILSFENCE SYSTEMS MODEL 14/M2

FENCE SYSTEMS MODEL 14/M2

37

1
4

8
4
,5

17
.5

60

37



thermal expansion 0,02mm/1m/1°C

6.
6

36

14

40

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9449-6000-R7016

6000
silver AL/9449-6000-N

Quality Finish art.
AISI304 raw A-DIN 7504P 4,2x16

9

10

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9450-6000-R7016

6000
silver AL/9450-6000-N

2c

Quality Finish art.
AISI304 raw A-DIN 7504P 4,2x13

7

Fence with cambered type vertical profile and flat vertical profile.

+

Quality Finish use art.
AL/9478-
6000-...

AL/9458-
6000-...

AL/9459-
6000-...

AL/9450-
6000-...

AL/9449-
6000-...

A-DIN 975.. AL/..

ANODIZED 
ALUMINIUM natural on post AL/S41-2000 2x

(6000mm)
1x

(6000mm)
1x

(6000mm)
1x

(6000mm)
1x

(6000mm) 4x 2x

4.2x16 
Self Tapping Screw

4.2x13 
Self Tapping 
Screw

7

9

5

6
60

60

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9458-6000-R7016

6000
silver AL/9458-6000-N

3

1a AL/5352C-R7016

AL/5400-N

A-DIN 975-1587 
M10x100

COMPONENTS

60x60 TECHNICAL DETAILSFENCE SYSTEMS MODEL 14/S3

60x60 FENCE SYSTEMS MODEL 14/S3AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
14

3

28

6.7

56

14

16

6.
7

58

58

60

60

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9460-6000-R7016

6000
silver AL/9460-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9480-6000-R7016

6000
silver AL/9480-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9481-6000-R7016

6000
silver AL/9481-6000-N

3

AL/5352C-R7016

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9459-6000-R7016

6000
silver AL/9459-6000-N

2a

4

1b 2b



Fence with cambered type vertical profile and flat vertical profile.

Quality Finish use art. AL/9478-6000-... AL/5235-N
AL/9450-
6000-...

AL/9449 A-DIN 975.. AL/..

ANODIZED 
ALUMINIUM natural on post AL/S41-2000 2x

(6000mm)
4x 1x

(6000mm)
1x

(6000mm) 4x 2x

COMPONENTS

TECHNICAL DETAILSFENCE SYSTEMS MODEL 14/M3

FENCE SYSTEMS MODEL 14/M3 AL
U

M
IN

IU
M

 F
E

N
C

E

M
O

D
E

L 
14

3

29

a

b

Lamel system 14

6.
6

36

14

40

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9449-6000-R7016

6000
silver AL/9449-6000-N

Quality Finish art.
AISI304 raw A-DIN 7504P 4,2x16

Quality Finish art.

AISI304 raw A-DIN 975-1587 M10x100

art.             ml quality
Q5/01B-300

  vinylesterQ5/01B-400
Q5/01B-400 Winter

-20°C +10°C

9

10
Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9450-6000-R7016

6000
silver AL/9450-6000-N

2c

Quality Finish art.
AISI304 raw A-DIN 7504P 4,2x13

7

2c

lamel

10

Material Finish Effect art.
steel Zn silver AL/5235-N

40

40

1,5

Ø5

10

9



thermal expansion 0,02mm/1m/1°C

14

6.7

56

16

6.
7

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9460-6000-R7016

6000
silver AL/9460-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9459-6000-R7016

6000
silver AL/9459-6000-N

60

60

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural
RAL
7016 AL/9458-6000-R7016

6000 14
silver AL/9458-6000-N

AL/5352C-R7016

30

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural RAL 
7016

AL/3950-1850-R7016 1850
20

AL/3950-6000-R7016 6000

7
0

70

1,2

2200,,66

3
8

1
6

38 16

Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/3948-20-R7016 20

AL/3948-1850-R7016 1850

AL/3948-6000-R7016 6000

A19/3950C-R7016 1,3

2
5

1
8
,2

22
00
,,66

8,4

3
0
0

1
0

120

Fe(Zn)

Material Finish Effect art.

ALUMINIUM natural silver AL/5234-N

A-DIN 7504P 4,2x13

Q5/08-M8x80

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural
RAL
7016 AL/8080-6000-R7016

6000 20
silver AL/8080-6000-N

A19/8081-...

 80 

 8
0
 

 8
 

 140x140 
 3

00
 

 70x30x3 

Material Finish Effect art.

steel Zn silver AL/5235-N

AL/3948-...

Q5/08-M8x80

AL/8080-CAP

Material Finish Effect art. L

ALUMINIUM natural RAL
7016

AL/8081-20-R7016 20

AL/8081-6000-R7016 6000

end cap

end cap

A19/SOLAR80-CAP

80 80

58

58

60

60

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9480-6000-R7016

6000
silver AL/9480-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9481-6000-R7016

6000
silver AL/9481-6000-N

AL/5352C-R7016

A-DIN 975-1587 
M10x100

ZN/5400-N

A-DIN 975-1587 
M10x100

ZN/5400-N



100

10
0

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9465-6000-R7016

6000
silver AL/9465-6000-N

AL/5405C-R7016

Quality Finish art.

AISI304 raw A-DIN 975-1587 M10x100

Material Finish Effect art.

steel Zn RAL
7016 AL/5402-R7016

31



thermal expansion 0,02mm/1m/1°C36

4 GATES

36



SINGLE-SWING 
GATE 

DOUBLE-SWING 
GATE 

CANTILEVER
GATE

ROLLING
GATE

MODEL 14
MODEL 17
MODEL 20
MODEL 20Z
MODEL 60Z
MODEL 100Z

MODEL 14
MODEL 17
MODEL 20
MODEL 20Z
MODEL 60Z
MODEL 100Z

MODEL 14
MODEL 17
MODEL 20
MODEL 20Z
MODEL 60Z
MODEL 100Z

MODEL 14
MODEL 17
MODEL 20
MODEL 20Z
MODEL 60Z
MODEL 100Z

FRAME 
SSG

FRAME 
DSG

FRAME 
CLG

FRAME 
RLG

37



thermal expansion 0,02mm/1m/1°C

A-DIN 7984-A2 M8x60 - 2pcs

A-DIN 7984-A2 M8x60 - 2pcs

H8/M8-12x40/20 - 2pcs H8/M8-12x40/20 - 2pcs

AL/9000-1C

A/16x1,5-17-000 - 2pcs

A/16x1,5-17-000 - 2pcs

a

c

A-DIN 912-A2 M8x75  

H8/M8-12x40/20

A-DIN 9048 4x13AL/5352C-R7016

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

A-DIN 125-A2 M8

A-DIN 9048 5x30

b

3 b4

b5

b2

b1

b3

B1/19N-80

D8/05G-... 

B1/30-25x90

A-DIN 7505A 5x35 - 2pcs      

A-DIN 9048 5x30 - 3pcs

B8/30-FP

D

E

F

C

1 2 3 4

B

A

321 54 6 7 8

5 6 7 8

A3

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

b

a

c

SINGLE-SWING GATE MODEL 14 - 60x60 FRAME TECHNICAL DETAILS

d

a1 a2

a3

a4

a5

a6

a7

c2

c1

c3

c4

c5

c6

FRAME

1000

2
0

0
0

Material Finish Effect art.

ALUMINIUM natural
RAL7016 AL/F-SSG-R7016-SET

silver AL/F-SSG-N-SET
AL/F-SGS-...-SET

38

CORNER



d3

d1

d2

S
ID

E
 V

IE
W

MODEL 17

MODEL 20

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

MODEL 100Z

MODEL 14

MODEL 60Z

MODEL 20Z

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

Material Finish Effect art. frame lamela 1

ALUMINIUM natural
RAL7016 AL/L14A-SGS-R7016-SET 1000

x
2000

AL/9451-...
silver AL/L14A-SGS-N-SET

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

Material Finish Effect art. frame lamela 1

ALUMINIUM natural
RAL7016 AL/L17A-SGS-R7016-SET 1000

x
2000

AL/9463-...
silver AL/L17A-SGS-N-SET

d4

d5

d6

Material Finish Effect art. frame lamela 1

ALUMINIUM natural
RAL7016 AL/L20A-SGS-R7016-SET 1000

x
2000

AL/4359-...
silver AL/L20A-SGS-N-SET

Material Finish Effect art. frame lamela 1

ALUMINIUM natural
RAL7016 AL/L20ZA-SGS-R7016-SET 1000

x
2000

AL/4328-...
silver AL/L20ZA-SGS-N-SET

Material Finish Effect art. frame lamela 1

ALUMINIUM natural
RAL7016 AL/L60ZA-SGS-R7016-SET 1000

x
2000

AL/9453-...
silver AL/L60ZA-SGS-N-SET

Material Finish Effect art. frame lamela 1

ALUMINIUM natural
RAL7016 AL/L100ZA-SGS-R7016-SET 1000

x
2000

AL/9463-...
silver AL/L100ZA-SGS-N-SET

SINGLE-SWING GATE LAMEL SYSTEM

39



thermal expansion 0,02mm/1m/1°C

B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

COMPONENTS

14

60

60

6.7

56

16

6.
7

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9458-6000-R7016

6000
silver AL/9458-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9460-6000-R7016

6000
silver AL/9460-6000-N

3

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9459-6000-R7016

6000
silver AL/9459-6000-N

 2 4 1

AL/5352C-R7016

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural
RAL 

7016 AL/3644-6000-R7016
6000 20

silver AL/3644-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL 

7016 AL/3648-6000-R7016
6000

silver AL/3648-6000-N

 6
AL/3644C-...

Quality Finish art.

AISI304 raw A-DIN 7504P 
4,2x13

end cap

7
Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/3207-6000-R7016

6000
silver AL/3207-6000-N

Material Finish art. L

Rubber black
A19/4466-6000 6000

A19/4466-M M

swing gate stopper

adapter 14 to 20

 2
5

,8
 

 12 

 30,5 

 17 

 2
5

,8
 

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural RAL
7016 AL/4488-1700-R7016 1700 17

5
A19/4488C

alternative 2

adapter 14 to 17

adapter 14 to 20Z

adapter 14 to 100Zadapter 14 to 60Z

SINGLE-SWING GATE MODEL 14 - 60x60 FRAME COMPONENTS

40

30

4
8

22
00
,,66

8a
Material Finish Effect art. L LAMEL 

system

ALUMINIUM natural RAL
7016 AL/4407-6000-R7016 6000 20

A19/4407C-R7016

 25 

 20 

 5 

 16 

Material Effect art.

PVC RAL
7016 A19/2545-R7016

end cap

3b

17
.5

60

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9452-6000-R7016

6000
silver AL/9452-6000-N A19/5403C-R7016

37

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9464-6000-R7016

6000
silver AL/9464-6000-N

 4

A19/5404C-R7016

2

25
.6

100

61



B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

- ACCESSORIES

Quality Finish art. M L view

AISI304 raw
A-DIN 7984-A2 M8x60

8
60 a3, a4

A-DIN 912-A2 M8x75 75 b1

Quality Finish art. d t view

AISI304 raw A-DIN 125-A2 M8 8 1,6 b2

 t 

 d 

 L 
 M 

Material Finish art. view
steel Zn H/M8-12x40/20-Zn a1, a2

b3, AISI304 raw H8/M8-12x40/20

Quality Finish art. L view
BRASS Ni B1/19N-80 40/40 c5

Material Finish art. view
steel Zn B1/30-25x90 c3

Quality Finish art. d L view

AISI304 raw

A-DIN 9048 4x13 4 13 b4
A-DIN 9048 5x30

5
30 b5, c1

A-DIN 9048 5x65 65 d5, d6

   Ld
 L 

d  L 
d

2
3
5

40

9
0

6,2

22

1
7
5

2
1
6

22,5

2,5

Quality Finish art. type view

AISI304 satin

D8/05G-R-i right fixed 
position

c6
D8/05G-L-i left
D8/05-GR right moves 

together
with handleD8/05-GL left

Quality Finish art. d L view

AISI304 raw A-DIN 7505A 5x35     5 35 c4

Quality Finish art. D L view

AISI304 raw A/16x1,5-17-000 16 17 a5, a6

Material Finish Effect art. view

ALUMINIUM natural
RAL
7016 AL/9000-1C-R7016

a7
silver AL/9000-1C-N

Quality Finish art. view

AISI304 raw B8/30-FP c2

SWING GATE MODEL 14

 12 

 40  20 

M8

 1
85

 

 41 

 22 

 
7,5 

41

    L

D

 



thermal expansion 0,02mm/1m/1°C

A-DIN 7984-A2 M8x60 - 2pcs

A-DIN 7984-A2 M8x60 - 2pcs

H8/M8-12x40/20 - 2pcs H8/M8-12x40/20 - 2pcs

AL/9000-1C

A/16x1,5-17-000 - 2pcs

A/16x1,5-17-000 - 2pcs

a

c

A-DIN 912-A2 M8x75  

H8/M8-12x40/20

A-DIN 9048 4x13AL/5352C-R7016

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

A-DIN 125-A2 M8

A-DIN 9048 5x30

b

3 b4

b5

b2

b1

b3

B1/19N-80

D8/05G-... 

B1/30-25x90

A-DIN 7505A 5x35 - 2pcs      

A-DIN 9048 5x30 - 3pcs

B8/30-FP

D

E

F

C

1 2 3 4

B

A

321 54 6 7 8

5 6 7 8

A3

b

a

c

DOUBLE SWING GATE MODEL 14 - 60x60 frame profile TECHNICAL DETAILS

LAMEL 
SYSTEMS 22-23

d

a1 a2

a3

a4

a5

a6
a7

c2

c1

c3

c4

c5

c6

A-DIN 7505A 5x35 - 4pcs     

D8/12-300

e

e

e1

e2

FRAME

1000

2
0

0
0

Material Finish Effect art.

ALUMINIUM natural
RAL7016 AL/F-SGS-R7016-SET

silver AL/F-SGS-N-SET

42

CORNER



D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

COMPONENTS

14

60

60

6.7

56

16

6.
7

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9458-6000-R7016

6000
silver AL/9458-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9460-6000-R7016

6000
silver AL/9460-6000-N

3

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9459-6000-R7016

6000
silver AL/9459-6000-N

 2 4 1

AL/5352C-R7016

d2 d3d1

MODEL 14

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural
RAL 

7016 AL/3644-6000-R7016
6000 20

silver AL/3644-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL 

7016 AL/3648-6000-R7016
6000

silver AL/3648-6000-N

 6
AL/3644C-...

Quality Finish art.

AISI304 raw A-DIN 7504P 
4,2x13

end cap

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

7
Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/3207-6000-R7016

6000
silver AL/3207-6000-N

Material Finish art. L

Rubber black
A19/4466-6000 6000

A19/4466-M M

swing gate stopper

1

DOUBLE SWING GATE MODEL 14 - 60x60 frame profile

43

adapter 14 to 17 adapter 14 to 20

adapter 14 to 20

 2
5

,8
 

 12 

 30,5 

 17 

 2
5

,8
 

Material Finish Effect art. L LAMEL 
system

ALUMINIUM natural RAL
7016 AL/4488-1700-R7016 1700 17

5
A19/4488C

alternative 2

adapter 14 to 17

1
1

2

4 45 6

7

22-23

14-15
6-7



thermal expansion 0,02mm/1m/1°C

B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

- ACCESSORIES

Quality Finish art. M L view

AISI304 raw
A-DIN 7984-A2 M8x60

8
60 a3, a4

A-DIN 912-A2 M8x75 75 b1

Quality Finish art. d t view

AISI304 raw A-DIN 125-A2 M8 8 1,6 b2

 t 

 d 

 L 
 M 

Material Finish art. view
steel Zn H/M8-12x40/20-Zn a1, a2

b3, AISI304 raw H8/M8-12x40/20

Quality Finish art. L view
BRASS Ni B1/19N-80 40/40 c5

Material Finish art. view
steel Zn B1/30-25x90 c3

Quality Finish art. d L view

AISI304 raw
A-DIN 9048 4x13 4 13 b4
A-DIN 9048 5x30 5 30 b5, c1

2
3
5

40

9
0

6,2

22

1
7
5

2
1
6

22,5

2,5

Quality Finish art. d L view

AISI304 raw A-DIN 7505A 5x35     5 35 c4, e2

Quality Finish art. D L view

AISI304 raw A/16x1,5-17-000 16 17 a5, a6

Material Finish Effect art. view

ALUMINIUM natural
RAL
7016 AL/9000-1C-R7016

a7
silver AL/9000-1C-N

Quality Finish art. view

AISI304 raw B8/30-FP c2

 12 

 40  20 

M8

DOUBLE SWING GATE MODEL 14

   Ld
 L 

d  L 
d

Quality Finish art.

AISI304 raw B8/32

Quality Finish art. view

AISI304 raw D8/12-300 e1

90

3
0
0

 16 

 
5,5 

 
8
,5

 

 6
4
 

 1
17

 

 24 

 1
4

0
 

130

1
1
0

1
3
8

158

5
0

2
2

60

Quality Finish art. type view

AISI304 satin

D8/05G-R-i right fixed 
position

c6
D8/05G-L-i left
D8/05-GR right moves 

together
with handleD8/05-GL left

44

    L

D

 



B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

60x60
FRAME

D E FC

1
2

3
4

BA

3
2

1
5

C D

4
6

7
8

A B

5
6

7
8

E F

D E FC

1
2

3
4

BA

3
2

1
5

C D

4
6

7
8

A B

5
6

7
8

E F

D E FC

1
2

3
4

BA

3
2

1
5

C D

4
6

7
8

A B

5
6

7
8

E F

D E FC

1
2

3
4

BA

3
2

1
5

C D

4
6

7
8

A B

5
6

7
8

E F

D E FC

1
2

3
4

BA

3
2

1
5

C D

4
6

7
8

A B

5
6

7
8

E F

D E FC

1
2

3
4

BA

3
2

1
5

C D

4
6

7
8

A B

5
6

7
8

E F

14 2017

DOUBLE SWING GATE MODEL 14

D E FC

1
2

3
4

BA

3
2

1
5

C D

4
6

7
8

A B

5
6

7
8

E F

D E FC

1
2

3
4

BA

3
2

1
5

C D

4
6

7
8

A B

5
6

7
8

E F

D E FC

1
2

3
4

BA

3
2

1
5

C D

4
6

7
8

A B

5
6

7
8

E F

20Z 100Z60�Z

45



thermal expansion 0,02mm/1m/1°C

CANTILEVER GATE MODEL 14 - 60x60 frame profile TECHNICAL DETAILS

 2000 max. 
 4300 max. 

6

D

C

B

A

E

F

G

H

E

A

B

C

D

F

54321 7 8 9 10 11 12

1 2 3 4 5 6

G

87

H

9 10 11 12

A2

B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

a

b

d

c

c1

c2

c3A-DIN 912-A2 M8x55 - 2pcs/m

A-DIN 125-A2 M8 - 2pcs/m

H8/M8-12x40/20

H/01PVC-J

D

E

F

C

1234

B

A

3 2 15 4678

5678

cCANTILEVER SYSTEM

A-DIN 912-A2 M8x55 - 2pcs/m

A-DIN 125-A2 M8 - 2pcs/m

H8/M8-12x40/20

H/01PVC-J

D

E

F

C

1234

B

A

3 2 15 4678

5678

c4

46

LAMEL 
SYSTEMS 22-23

A-DIN 9048 5x30 - 3pcs

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

A3

A-DIN 7505A 5x35 - 2pcs

H/36-20A B1/19N-80

D8/09-i

b

b1

b2

b3

b4

b5

LOCK

A-DIN 912-A2 M8x75  

H8/M8-12x40/20

A-DIN 9048 4x13AL/5352C-R7016

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

A-DIN 125-A2 M8

A-DIN 9048 5x30

a

3 a1

a2

a3

a4

a5

CORNER



COMPONENTS

B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

14

60

60

6.7

56

16

6.
7

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9458-6000-R7016

6000
silver AL/9458-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9460-6000-R7016

6000
silver AL/9460-6000-N

3

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9459-6000-R7016

6000
silver AL/9459-6000-N

 2 4 1

AL/5352C-R7016

6.
6

36

14

40

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9449-6000-R7016

silver AL/9449-6000-N

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9450-6000-R7016

silver AL/9450-6000-N

SUPPORT BRACE CHANNEL - Recommended for panels wider than 2 meters

 5  6

CANTILEVER GATE MODEL 14 - 60x60 frame profile

Alt.1 Support brace channel 

47

 0 - 4300 

 m
ax

. 2
00

0 

1

2 6

4

5

VÝPLŇ

d

H8/53

AL/40x40x3-6000-N

AL/L50x30x3-6000-N

A-DIN 9048 4x13 - 5pcs/m

A-DIN 7380-A2 M6x12 - 5pcs/m

A-DIN 125-A2 M6 - 5pcs/m

A-DIN 1587-A2 M6 - 5pcs/m

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

A-DIN 9048 4x13 - 5pcs/m

d1

d2

d3

d4

d5

d6

d7

d8

TRACKS



thermal expansion 0,02mm/1m/1°C

B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

- ACCESSORIESCANTILEVER GATE MODEL 14

 M10 

 30-45 

 34 

 1
1
5
 

 5
7
  10,5 

 40 

 19,5 

view
Quality Finish art.

AISI304 raw H8/53 U/40x40 d8

MODEL Al
90x95

L4m/GG200kg

SV-90x95-AL-ECO H/02-90x95
-AL-6000

  SV-90x95-AL-ECO
2x 1x 1x 2x

-

  SV-90x95-AL 1x

Quality Finish art. M L view

AISI304 raw
A-DIN 912-A2 M8x55

8
55 c3

A-DIN 912-A2 M8x75 75 a4

Quality Finish art. d t view

AISI304 raw
A-DIN 125-A2 M6 6

1,6
d2

A-DIN 125-A2 M8 8 a3, c2

 t 

 d 

 L 
 M 

Material Finish art. view
steel Zn H/M8-12x40/20-Zn

a5, c4
AISI304 raw H8/M8-12x40/20

 12 

 40  20 

M8

Quality Finish art. L view
BRASS Ni B1/19N-80 40/40 b2

Quality Finish art. view
AISI304 satin D8/09-i b3

 20  5 

 16
0 

 18
0 

 2,5 
 17,5 

 36 
 20  5 

 16
0 

 18
0 

 2,5 
 17,5 

 36 

Material Finish art. view
steel Zn H/36-20A b4

Material art. L Module Gmax 
(kg) view

PVC H/01PVC-J 1000 4 300 c1

 L 
 M 

Quality Finish art. M L view
AISI304 raw A-DIN 7380-A2 M6x12 6 12 d6

3

4
0

40

Material Finish art. L view
ALUMINIUM natural AL/40x40x3-6000-N 6000 d4

 L 

 M 

Quality Finish art. M L view
AISI304 raw A-DIN 1587-A2 M6 6 12 d1

Quality Finish art. d L view

AISI304 raw

A-DIN 9048 4x13 4 13 a1
d5,d7

A-DIN 9048 5x30
5

30 a2,b1
A-DIN 7505A 5x35      35 b5

   Ld

A-DIN 9048...

A-DIN 7505A...

 L 
d  L 

d

Material Finish Effect art. view
ALUMINIUM natural silver AL/L50x30x3-6000-N d3

 30 

 50 

 3 
 L 

Quality Finish art.

AISI304 raw H8/37-60P

1
3

2
9

103

60

50 M12

Quality Finish art.

AISI304 raw H8/16-46x130

Quality Finish art.

AISI304 raw H8/10B-60x130

 60 

 12
8 

 
27

 
 7

1 

 71 

 100 

 10
0 

 4x
10 

 60 

 12
8 

 
27

 
 7

1 

 71 

 100 

 10
0 

 4x
10 

 60 
 12

8 
 

27
 

 7
1 

 71 

 100 

 10
0 

 4x
10 

 119 

 1
1 

 4
6 

 41 

 1
73

 

 1
30

 

 3x
12 

 58,5 

 174 

 1
12

 

 119 

 1
1 

 4
6 

 41 

 1
73

 

 1
30

 

 3x
12 

 58,5 

 174 

 1
12

 

48



B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

60x60
FRAME

CANTILEVER GATE MODEL 14

A-DIN 912-A2 M8x55 - 2pcs/m

A-DIN 125-A2 M8 - 2pcs/m

H8/M8-12x40/20

H/01PVC-J

D

E

F

C

1 2 3 4

B

A

321 54 6 7 8

5 6 7 8

49



thermal expansion 0,02mm/1m/1°C

ROLLING GATE MODEL 14 - 60x60 frame profile TECHNICAL DETAILS

 2000 max.  5500 max. 

6

D

C

B

A

E

F

G

H

E

A

B

C

D

F

54321 7 8 9 10 11 12

1 2 3 4 5 6

G

87

H

9 10 11 12

A2

B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

a

b

d

c

e

LAMEL 
SYSTEMS 22-23

A-DIN 9048 5x30 - 3pcs

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

A3

A-DIN 7505A 5x35 - 2pcs

H/36-20A B1/19N-80

D8/09-i

b

b1

b2

b3

b4

b5

LOCK

H8/M8-12x40/20

A-DIN 125-A2 M8

A-DIN 912-A2 M8x45

H8/31U-80-R10

d

d1

d2

d3

d4

50

A-DIN 9048 4x13 - 5pcs/m

H/01PVC-J

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

LA /L 05 x 03 x3- 0006 -N

c

c1

c2

c3

GEAR RACKS

ROLLING SYSTEM

A-DIN 912-A2 M8x75  

H8/M8-12x40/20

A-DIN 9048 4x13AL/5352C-R7016

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

A-DIN 125-A2 M8

A-DIN 9048 5x30

a

3 a1

a2

a3

a4

a5

CORNER



COMPONENTS

B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

14

60

60

6.7

56

16

6.
7

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9458-6000-R7016

6000
silver AL/9458-6000-N

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9460-6000-R7016

6000
silver AL/9460-6000-N

3

Material Finish Effect art. L

ALUMINIUM natural
RAL
7016 AL/9459-6000-R7016

6000
silver AL/9459-6000-N

 2 4 1

AL/5352C-R7016

6.
6

36

14

40

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9449-6000-R7016

silver AL/9449-6000-N

Material Finish Effect art.

ALUMINIUM natural
RAL
7016 AL/9450-6000-R7016

silver AL/9450-6000-N

SUPPORT BRACE CHANNEL - Recommended for panels wider than 2 meters

 5  6

ROLLING GATE MODEL 14 - 60x60 frame profile

0,5 - 6,0
 0,3 0,1Tolerance

6,0 - 30,0Dim. range
 0,2

120,0 - 400,030,0 - 120,0
 0,5

Quality:Drew:

Model:
Sheet:Number of sheets:

Name:

Date:

Scale:

Drawing:

Weight (g):

Untollerated dimensions: ISO 2768 - mKR0,3
R0,3

02
03
04
05

Pojazdova brana

 2532.65

Teleskopicka brana
Pojazdova brana-List1

1:50

22

AA

SECTION A-A
SCALE 1 : 2

6

D

C

B

A

E

F

G

H

E

A

B

C

D

F

54321 7 8 9 10 11 12

1 2 3 4 5 6

G

87

H

9 10 11 12

A2
03.11.2023

1

2

4 VÝPLŇ

57

51

Alt.2 Support by profile 

Alt.1 Support 
brace channel 

e

H8/53

AL/40x40x3-6000-N

AL/L50x30x3-6000-N

A-DIN 9048 4x13 - 5pcs/m

A-DIN 7380-A2 M6x12 - 5pcs/m

A-DIN 125-A2 M6 - 5pcs/m

A-DIN 1587-A2 M6 - 5pcs/m

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

5 6 7 8

E

F

A-DIN 9048 4x13 - 5pcs/m

e1

e2

e3

e4

e5

e6

e7

e8

TRACKS



thermal expansion 0,02mm/1m/1°C

B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

- ACCESSORIESROLLING GATE MODEL 14

Quality Finish art. M L view

AISI304 raw
A-DIN 912-A2 M8x45

8
45 d3

A-DIN 912-A2 M8x75 75 a4

Quality Finish art. d t view

AISI304 raw
A-DIN 125-A2 M6 6

1,6
e2

A-DIN 125-A2 M8 8 a3, d2

 t 

 d 

 L 
 M 

Material Finish art. view
steel Zn H/M8-12x40/20-Zn

a5, d1
AISI304 raw H8/M8-12x40/20

Quality Finish art. L view
BRASS Ni B1/19N-80 40/40 b2

Quality Finish art. view
AISI304 satin D8/09-i b3

 20  5 

 16
0 

 18
0 

 2,5 
 17,5 

 36 
 20  5 

 16
0 

 18
0 

 2,5 
 17,5 

 36 

Material Finish art. view
steel Zn H/36-20A b4

Material art. L Module Gmax 
(kg) view

PVC H/01PVC-J 1000 4 300 c1

 M10 

 30-45 

 34 

 1
1

5
 

 5
7

  10,5 

 40 

 19,5 

view
Quality Finish art.
AISI304 raw H8/53 U/40x40 e8

 L 
 M 

Quality Finish art. M L view
AISI304 raw A-DIN 7380-A2 M6x12 6 12 e6

3

4
0

40

Material Finish art. L view
ALUMINIUM natural AL/40x40x3-6000-N 6000 e4

 L 

 M 

Quality Finish art. M L view
AISI304 raw A-DIN 1587-A2 M6 6 12 e1

Quality Finish art. Gmax (kg)
(2xH/31U...) view

AISI304 raw H8/31U-80-R10 300 d4

34100

709

23
10

8
57
8

Quality Finish art. d L view

AISI304 raw

A-DIN 9048 4x13 4 13 c2,a1
e5,e7

A-DIN 9048 5x30
5

30 a2,b1
A-DIN 7505A 5x35      35 b5

   Ld

A-DIN 9048...

A-DIN 7505A...

 L 
d  L 

d

Material Finish Effect art. view
ALUMINIUM natural silver AL/L50x30x3-6000-N c3, e3

 12 

 40  20 

M8

 30 

 50 

 3 
 L 

Quality Finish art.

AISI304 raw H8/37-60P

1
3

2
9

103

60

50 M12

Quality Finish art.

AISI304 raw H8/16-46x130

Quality Finish art.

AISI304 raw H8/10B-60x130

 60 

 12
8 

 
27

 
 7

1 

 71 

 100 

 10
0 

 4x
10 

 60 

 12
8 

 
27

 
 7

1 

 71 

 100 

 10
0 

 4x
10 

 60 

 12
8 

 
27

 
 7

1 

 71 

 100 

 10
0 

 4x
10 

 119 

 1
1 

 4
6 

 41 

 1
73

 

 1
30

 

 3x
12 

 58,5 

 174 

 1
12

 

 119 

 1
1 

 4
6 

 41 

 1
73

 

 1
30

 

 3x
12 

 58,5 

 174 

 1
12

 

Quality Finish art.

AISI304 raw
H8/39U-3000

H8/39U-6000

52

  
1

6
  

10

  
3

  

55   60  

  
3
  

  
1

5
  

  R
5 

 

  L 6000  
  
6
,5

  

  10  

  
4

6
,5

  

  50    10x290    100  

  L 3000  



B
R

ÁN
Y,

 B
R

ÁN
K

Y

5

60x60
FRAME

ROLLING GATE MODEL 14

H8/M8-12x40/20

A-DIN 125-A2 M8

A-DIN 912-A2 M8x45

H8/31U-80-R10

53



thermal expansion 0,02mm/1m/1°C54

8 ACCESSORIES



55

Quality Finish art. M L

AISI304
raw

A-DIN 914-A2 M5x5

5

5

A-DIN 914-A2 M5x6 6

A-DIN 914-A2 M5x8 8

A-DIN 914-A2 M6x6 6 6

AISI316 A4-DIN 914 M5x5 5 5

Quality Finish art. M L
A-DIN 913-A2 M5x10 5

10

AISI304

raw

A-DIN 913-A2 M6x10
6

A-DIN 913-A2 M6x12 12

A-DIN 913-A2 M8x16

8

16

A-DIN 913-A2 M8x20 20

A-DIN 913-A2 M8x25 25

A-DIN 913-A2 M8x30 30

A-DIN 913-A2 M8x40 40

A-DIN 913-A2 M8x80 80

A-DIN 913-A2 M10x12

10

12

A-DIN 913-A2 M10x35 35

A-DIN 913-A2 M10x100 100

AISI316

A4-DIN 913 M5x5
5

5

A4-DIN 913 M5x10
10

A4-DIN 913 M6x10
6

A4-DIN 913 M6x12
12

A4-DIN 913 M10x12

10A4-DIN 913 M10x16 16

A4-DIN 913 M10x55 55

Quality Finish art. M L
steel 8.8 Zn DIN 7380 M10x20 8.8-Zn 10 20

AISI304

raw

A-DIN 7380-A2 M5x12 5
12

A-DIN 7380-A2 M6x12 6

A-DIN 7380-A2 M8x10

8

10

A-DIN 7380-A2 M8x12 12

A-DIN 7380-A2 M8x20

20A-DIN 7380-A2 M10x20 10

A-DIN 7380-A2 M12x20 12

AISI316

A4-DIN 7380 M5x12
5

12

A4-DIN 7380 M5x16 16

A4-DIN 7380 M6x12 6 12

A4-DIN 7380 M8x20 8
20

A4-DIN 7380 M10x20 10

Quality Finish art. M L

AISI304 raw

A-DIN 912-A2 M5x20 5
20

A-DIN 912-A2 M8x20 8

A-DIN 912-A2 M12x25
12

25

A-DIN 912-A2 M12x35 35

Quality Finish art.

AISI304
raw

A-DIN 916-A2 M10x14

AISI316 A4-DIN 916 M10x14

AC
C

E
S

O
R

IE
S

8

Quality Finish art. M D

AISI304 raw
A-DIN 6334V M8x25-A2 8 11

A-DIN 6334V M10x25-A2 10 13

 L 

 M 

 L 

 M 

 M  D 

25

14

M10

 L 
 M 

 L 
 M 

Quality Finish art. M L

steel 8.8 Zn
DIN 7991 M8x20-Zn 8 20

DIN 7991 M12x30-Zn 12 30

AISI304

raw

A-DIN 7991-A2 M5x12

5

12

A-DIN 7991-A2 M5x16 16

A-DIN 7991-A2 M5x20 20

A-DIN 7991-A2 M6x8

6

8

A-DIN 7991-A2 M6x14 14

A-DIN 7991-A2 M6x16 16

A-DIN 7991-A2 M6x20 20

A-DIN 7991-A2 M6x40 40

A-DIN 7991-A2 M6x60 60

A-DIN 7991-A2 M8x12

8

12

A-DIN 7991-A2 M8x16 16

A-DIN 7991-A2 M8x30 30

A-DIN 7991-A2 M8x35 35

A-DIN 7991-A2 M8x70 70

AISI316

A4-DIN 7991 M5x16 5 16

A4-DIN 7991 M6x14
6

14

A4-DIN 7991 M6x40 40

A4-DIN 7991 M8x20

8

20

A4-DIN 7991 M8x30 30

A4-DIN 7991 M8x70 70

A4-DIN 7991 M10x20 10 20

A4-DIN 7991 M12x30 12 30

 L 

 M 



thermal expansion 0,02mm/1m/1°C56

Quality Finish art. M L

AISI304
raw

A-DIN 1587-A2 M6 6 12

A-DIN 1587-A2 M8 8 15

A-DIN 1587-A2 M10 10 18

A-DIN 1587-A2 M12 12 22

AISI316 A4-DIN 1587 M10 10 18

Quality Finish art. M s t

AISI304 raw

A-DIN 562 M6 6 10 3,2

A-DIN 562 M8 8 13 4

A-DIN 562 M10 10 17 5

Quality Finish art. M L

AISI304 raw
A-DIN 917 M8 8 10

A-DIN 917 M10 10 12

Quality Finish art. M L

AISI304

raw

A-DIN 439B-A2 M8
8

4

A-DIN 934 M8 6,5

A-DIN 934 M10 10 8

A-DIN 934 M12 12 10

AISI316
A4-DIN 439B M8 8 4

A4-DIN 934 M10 10 8

Quality Finish art. D d t

steel Zn

DIN 125 10-Zn 20
10

2
DIN 9021 10-Zn 30 2,5
WIT-SHB M8-Zn 23 9

5WIT-SHB M10-Zn 26 12
WIT-SHB M12-Zn 28 14

AISI304

raw

A-DIN 125-A2 M5 10 5 1
A-DIN 9021-A2 M8 30

8
2,5

A-DIN 125-A2 M8 16 1,6
A-DIN 125-A2 M10 20

10
2

A-DIN 9021-A2 M10 30 2,5
A-DIN 125-A2 M12 24

12
2,5

A-DIN 433-A2 M12 20
2

AISI316

A4-DIN 9021 M8 24 8,4
A4-WIT-SHB M8 23 9

5A4-WIT-SHB M10 26 12
A4-WIT-SHB M12 28 14

Quality Finish art.

steel 8.8 Zn DIN 933 M10x30 8.8-Zn

AISI316 raw A4-DIN 933 M10x30

Quality Finish art.

AISI316 raw A14/08-WASHER

 L 

 M 

 L 

 M 

 M 

 t 

 s 

 t 

 d 

 L 

 M 

 21,8 

 5,7 

 8,5 

30
M10

 20 

 M8 

 5

 21,5

Quality Finish art.

steel 8.8 Zn W-DIN 7991 M8x20-P

AISI316 raw W-DIN 7991-A4 M8x20-P

AC
C

E
S

O
R

IE
S

8



57

Quality Finish art. M

steel Zn
WOOD/M8-D 8

WOOD/M10-D 10

Quality Finish art. M ETA opt.1

steel 8.8 Zn Q5/08-VM250-M10-... 10 

Q5/08-VM250-M12-... 12 

AISI304

raw

A-DIN 975 M6 6 -
A-DIN 975 M8 8 -
A-DIN 975 M10 10 -
A-DIN 975 M12 12 -

AISI316
A4-DIN 975 M10 10 -
A5/08-VM250-M10-...-A4 10 

A5/08-VM250-M12-...-A4 12 

Quality Finish art. M L

AISI304 raw

A-FTT-M5 5 12

A-FTT-M6 6 14

A-FTT-M8 8 16,5

A-FTT-M10 10 19

Quality Finish art.

AISI304 raw A-DIN 7337-A2 4,8x20

Quality Finish art.9 L

AISI304 raw
A-PH 5x20 20

A-PH 5x35 35

Quality Finish art. L

AISI304 raw
A-DIN 7505A 5x20 20

A-DIN 7505A 5x35 35

Quality Finish art. M L b h SW

AISI304

A-DIN 9210 M6x60-A2 6
60 20 37 -

raw

A-DIN 9210 M8x60-A2
8

A-DIN 9210 M8x100-A2
100

42 48 
A-DIN 9210 M10x100-A2 10 30 57 

AISI316
A4-DIN 9210 M6x100 6 100 
A4-DIN 9210 M8x60

8
60 20 37 -

A4-DIN 9210 M8x100 100 42 48 

 L 

 M 

 L 
5

 4,8 

 20

 M 

 L  h 

 b 

 SW 

1000

 M 

 5  L

 M 

Quality Finish art.

PVC

satin A19/04-PVC

polish A19/04-PVC-L

raw
A12/12-PVC

A12/12-35-PVC

A12/12-PVCA19/04-PVC... A12/12-35-PVC A12/12-35-PVC

AC
C

E
S

O
R

IE
S

8



thermal expansion 0,02mm/1m/1°C58

Quality Finish art.

steel Zn Q5/08-FAZ-IG-M10-70/S

AISI316 raw A5/08-FAZ-IG-M10-70/A4

Quality Finish art.

AISI304
raw

A5/08-105x11xM8

AISI316 A14/08-105x11xM8

Quality Finish art.

steel Zn Q5/09-Quick-Fix QF5

Quality Finish art.

steel Zn Q5/08-TNTR08-8x52

Quality Finish art. M

steel raw
Q11/FPX-M8 8

Q11/FPX-M10 10

Quality Finish art. L D/v

steel Zn
Q5/08-HAZ-M8-80SK/S 80 20,5/5

Q5/08-FH12-50 125 22/5,8

AISI316 raw A5/08-HAZ-M8-80SK/A4 80 20,5/5

 M8 
 12 

  L
 5 

      D

 M8 
 11 

 111 

 21,8 

 5,7 

 12 
 M10 

 70 

 10 
 75 

 M 
 14 

 M8 
 13,8 

 40 

 52 

 M8 
 12 

AC
C

E
S

O
R

IE
S

8

 10 
 75 

 M 
 14 



59

Quality Finish art. D d L

NYLON gray

Q5/07-8 NYLON 8 2,5-4 40

Q5/07-10 NYLON 10 3-6 50

Q5/07-12 NYLON 12 4-8 60

Quality Finish art. M L D b

AISI304 raw

A19/27-M8 8
140

11
15

A19/27-M10 10 13

A19/27-M12 12 130 15  25 

Quality Finish art. M L

steel

Zn
Q5/06-8x100CE 8 92

Q5/06-10x120CE 10 120

raw Q5/08-FBN12-30 12 126

Zn
Q5/06-16x123CE 16 123

Q5/06-16x138CE 16 138

AISI304 raw A-Q5/06-10x120CE 10 120

Quality Finish art.

steel 5.8 Zn Q5/08-BS-S-10-90/S

AISI316 raw A5/08-BS-S-10-90/A4

Quality Finish art. M L d D/v

steel

Zn Q5/08-HAZ-M8-85S/S 8 85 12 20/7,5

raw Q5/08-FH15/25 S
10

89
15 25/9,5

Zn Q5/08-HAZ-M10-106S/S 106

AISI316 raw
A5/08-HAZ-M8-85S/A4 8 85 12 20/7,5

A5/08-HAZ-M10-106S/A4 10 106 15 25/9,5

Quality Finish art. M L D

steel 5.8 Zn

Q5/08-VI-IG-M8-100/S 8 100 12

Q5/08-VI-IG-M10-80/S 10 80 16

Q5/08-VI-IG-M12-125/S 12 125 20

AISI316 raw

A5/08-VI-IG-M8-100/A4 8 100 12

A5/08-VI-IG-M10-80/A4 10 80 16

A5/08-VI-IG-M12-125/A4 12 125 20

 L 

 v 

 D 

 d 

 M 

 M 
 D 

 L 

 b 

   L

 M

 D 
 M 

 L 

20

10
90

15

 L 

 d 

 D 

AC
C

E
S

O
R

IE
S

8



thermal expansion 0,02mm/1m/1°C60

art. description

Q1/RN01-125x1 cutting disc 

art. description

Q1/L01-125-40 flap disc

Q1/L01-125-80 flap disc

Q1/L01-125-120 flap disc

art. granularity

Q1/G01 360

152

229

Quality art. M ∅

HSS-CO5

A-DRILL-M5 5 4

A-DRILL-M6 6 4,8

A-DRILL-M8 8 6,4

Quality art. M

HSSE

A/FDRILL-M5C 5
A/FDRILL-M6C 6
A/FDRILL-M8C 8
A/FDRILL-M10C 10

   M 
  

 d  L 

AC
C

E
S

O
R

IE
S

8

art.             ml quality description
Q5/01GF-300 Nordic

  vinylester
 -20°C +10°C

Q5/01GF-400 Nordic
Q5/01GF-300

-10°C +30°C
Q5/01GF-400     

art. M L
Q5/04 17 215

Q5/04-250 8 250

art.            ml            quality description
Q5/01GFP-300

     Polyester  -5°C +30°C
Q5/01GFP-400

art.             ml quality description
Q5/01B-300

  vinylester
-10°C +40°C

Q5/01B-400 -10°C +40°C

Q5/01B-400 Winter  -20°C +20°C

Q5/04-250

art. description

Q5/03-400 400ml, profi

art. description

Q5/03-300 300ml, hobby

art. description

Q5/01-16x130 mesh



61

art. ml description

A/Cleaner-500ml 500 INOX

art. ml description

A/spray-WS 400 INOX

art.

Q/INOX-INSTALL-SET 1x - - 1x 1x
1x 1x

1x

Q/INOX-INSTALL-SET-B - 1x 1x 2x 2x 2x

art. g gap description

A/Glue-10g-C 10 0,2 INOX

art. g gap description

A/Glue-20g 20 0,2 all purpose
superfast

art. g gap description

A/GLUE-50g-C
50

0,2 INOX

A/GLUE-50g-D 0,4 INOX

art. g description

A/ACTIVATOR-50g 50 for  A/Glue..

CA/ACTIVATOR
1000

corten effect

CA/LAK lacquer for corten

AC
C

E
S

O
R

IE
S

8

art. ml

GS/Cleaner-Metal 200

art. ml

GS/Cleaner-Glass 200

Q/INOX-INSTALL-SET Q/INOX-INSTALL-SET-B

art. ml description

Q5/05-MAMUT 290 instant fix

CA/LAKCA/ACTIVATORA/ACTIVATOR



thermal expansion 0,02mm/1m/1°C

ACCESORIES MIX

Quality Finish art.

AISI304 raw H8/04-22-W

Quality Finish art.

ALUMINIUM raw AL/6900-020

Quality Finish art.

AISI304 satin D16/77-60

62

Quality Finish art.

AISI304 raw H8/12-2S

Quality Finish art.

AISI304 raw H8/12-4T

Quality Finish art.

NYLON raw H/01PVC-AL

Quality Finish art.

ALUMINIUM natural H/01PVC-AL-K

Quality Finish art.

AISI304 raw H8/01-30x8H

Quality Finish art.

AISI304 raw H8/32

Quality Finish art.

AISI304 raw
H8/14N-60x60

H8/14N-80x80

Quality Finish art.

AISI304 raw
H8/34-4-60x60

H8/34-4-80x80

Quality Finish art.

AISI304 raw
H8/15P-60

H8/15P-80



Quality Finish art.

AISI304 raw

H8/02-60x60-3000

H8/02-60x60-6000

H8/02-80x80-3000

H8/02-80x80-6000

ACCESORIES MIX

Quality Finish art.

AISI304 satin D8/15-i

Quality Finish art.

AISI304
satin D8/05-i

RAL D8/05-BLACK
Quality Finish art.

AISI304 satin B8/30-23x85

63

Quality Finish art.

AISI304 raw

D8/19-M12

D8/19-M16

D8/19-M20

Quality Finish art.

AISI304 raw
D8/53-M16-K

D8/53-M20-K

Quality Finish art.

AISI304 raw
D8/22-M16-K

D8/22-M20-K

Quality Finish art.

ALUMINIUM natural
H/02-83x79-Al-3000

H/02-83x79-Al-6000



thermal expansion 0,02mm/1m/1°C

Motor 
Engine

Elektronika 
Control 

unit

Príjmač 
Receiver

Ovládač 
Remote 
control

Fotobunky 
Photocells

Maják
Light

SLH400 NKSL400 NKA3 OXIBD ON2E EPMB ELDC

SLH-400-BDKIT  -


 2x  

NKSL400 -  - - - -

Napájanie 
Power supply

Napájanie motora 
Motor power supply

Výkon 
Power

Sila 
Force

Rýchlosť 
Speed

Opt.prac.cykly 
Opt.work cycles

Modul hrebeňa
Gear rack modul

Pomalý rozbeh 
Slow start

Pomalý dojazd
Slow stop

SLH400
230V 24V 250W 400N 0,34m/s 12/h 4  

NKSL400

SLH400, NKSL400

OPT. (kg) MAX. (kg)

200

400

 300

SLH, NAKED
SLH NAKED

VOLITEĽNÉ PRÍSLUŠENSTO  /  OPTIONAL ACESSORIES

Ovládač
Remote control

Majáky
Flash lights

Fotobunky
Photpcells

Príjmač
Receiver

Kódová klávesnica
Code keypad

Čítačka kariet
Card reader

Kľúčový ovládač
Key selector

GSM prijímač
GSM receiver

Power supply
Záložná batéria

FLO2R

FLO4R

FLO2RE

FLO4RE

ON-2E

ON-4E

ON3EBD

INTI2

INTI2B

INTI2R

INTY2Y

ELDC EPMB
OXIBD

SMX2R
IT4WIFI

EDSWG
ETP

ETPB

EKS

MOSE
- PS-124

VARIO-FL

MULTI-MOD-1SB
UNILED-YS -

MULTI-RECEIVER

MULTI-RECEIVER-
SMART-02

MULTI-RECEIVER-
SMART-03

- - -
MP/GSM-230-3G

MP/GSM-320-3G-
CLOUD

-

Quality Finish

NAKED-KIT AISI304 natural
 140 

 4
50

 

 110 

 4
25

 

6x11  1 
 140 

 2
30

 

 115 

 1
90

 
 8

7,
5 

8,5x28  3 

64



Quality
Model

UNI-STAND AISI304
všetky pohony posúvnych brán 

z našej ponuky

univerzálny podstavec pre pohon/uni stand for motor

 62 

 1
00

 - 
13

5 

 6
5 

- 1
00

 

 96 

 333 

 9
6 

 6
2 

 3
5 

 1
22

 
 1

92
 

 195 

65

Kód 
Code

Kanály 
Channels

Frekvencia 
Frequency

FIX-FQ pevný
fix

4 433MHz

Kód 
Code

Kanály 
Channels

Frekvencia 
Frequency

VARIO-FL plávajúci
rolling

4 433MHz

Kovový rámček/Metallic frameKovový rámček/Metallic frame

Napájanie 
Power

PLA-10 12VAC/VDC

Elektromagnetický zámok-krídlové brány/El. lock - swing gates

Napájanie 
Power

LOCK-10 12VAC/VDC

Elektromagnetický zámok-krídlové brány/El. lock - swing gates

Napájanie 
Power supply

a h Farba 
Color

LED
Anténa

Antenna

UNILED-YS 12V, 24V, 230V 76 125 žltá
yellow  

Modul hrebeňa
Gear rack modul

Max. zaťaženie
Max. loading

BSFM-7

4

7Nm

BSFM-8 8Nm

BSFM-12 12Nm

BSFM-30 30Nm

Hydraulická brzda pre brány v sklone/Hydraulic brake



thermal expansion 0,02mm/1m/1°C66

a

α

b

c LEFT

α° a (mm) b (mm) c (mm)

WG-2024 90 120 120 60

WG-3524 120 130 130 70

WINGO

320(470*) 55

98

9
5

770(920*)

Motor 
Engine

Elektronika 
Control unit

Príjmač 
Receiver

Ovládač 
Remote control

Fotobunky 
Photocells

Koncový doraz
Limit switch

CLOSED

OPEN

WG-2024 WG-3524 MC424 FLO2RE BF OPEN CLOSED

WINGO-2024
2x

-

 integrated

2x
-

 + PLA-13

WINGO2024-ZKIT


WINGO2024-LEFT/RIGHT-ZKIT 1x 1x

WINGO-3524

-
2x 2x

-

WINGO3524-ZKIT


WINGO3524-LEFT/RIGHT-ZKIT 1x 1x

*WG3524, WG3524HS

WG-2024/WG-2024 WG-3524/WG-3524

L (m) OPT. (kg) MAX. (kg) OPT. (kg) MAX. (kg)

1,5/1,5 110/110 220/220 150/150 300/300

2/2 100/100 200/200 125/125 250/250

2,5/2,5
- -

110/110 220/220

3,5/3,5 100/100 200/200

Napájanie 
Power supply

Napájanie motora 
Motor power supply

Výkon 
Power

Sila 
Force

Rýchlosť 
Speed

Opt.prac.cykly 
Opt.work cycles

Pomalý rozbeh 
Slow start

Pomalý dojazd
Slow stop

WG-2024
230V 24V 85W 1500N

0,018m/s
10/h  

WG-3524 0,016m/s

VOLITEĽNÉ PRÍSLUŠENSTO  /  OPTIONAL ACESSORIES

Ovládač
Remote control

Majáky
Flash lights

Fotobunky
Photpcells

Príjmač
Receiver

Kódová klávesnica
Code keypad

Čítačka kariet
Card reader

Kľúčový ovládač
Key selector

GSM prijímač
GSM receiver

Power supply
Záložná batéria

FLO2R

FLO4R

FLO2RE

FLO4RE

ON-2E

ON-4E

INTI2

INTI2B

INTI2R

INTY2Y

ELDC
BF

EPM

OXIBD

SMX2R
IT4WIFI

EDSWG
ETP

ETPB

EKS

MOSE
- PS-124

VARIO-FL

MULTI-MOD-1SB
UNILED-YS

FT-20

FTO-15

FT-12-FL

MULTI-RECEIVER

MULTI-RECEIVER-
SMART-02

MULTI-RECEIVER-
SMART-03

- - -
MP/GSM-230-3G

MP/GSM-320-3G-
CLOUD

-



67

Napájanie 
Power supply

Napájanie motora 
Motor power supply

Výkon 
Power

Sila 
Force

Rýchlosť 
Speed

Opt.prac.cykly 
Opt.work cycles

Modul hrebeňa
Gear rack modul

Pomalý rozbeh 
Slow start

Pomalý dojazd
Slow stop

RB400

230V 24V

330W 400N 0,34m/s

12/h 4  RB600 515W 600N 0,31m/s

RB1000 450W 900N 0,28m/s

ROBUS

210(195*)

3
0
3
(2

7
7
*)

9
2
(8

5
*)

Motor 
Engine

Elektronika 
Control unit

Príjmač 
Receiver

Ovládač 
Remote control

Fotobunky 
Photocells

Maják
Light

RB400 RB600 RB1000 RBA3R10 OXIBD ON-2E EPMB ELDC

ROBUS400-BDKIT  -
-



 2x  
ROBUS600-BDKIT

-



ROBUS-1000
- 

- - -
-

ROBUS1000-ZKIT  1x 

*RB400

RB400 RB600 RB1000

OPT. (kg) MAX. (kg) OPT. (kg) MAX. (kg) OPT. (kg) MAX. (kg)

200

400

300

600

500

1000

 300 400 600

VOLITEĽNÉ PRÍSLUŠENSTO  /  OPTIONAL ACESSORIES

Ovládač
Remote control

Majáky
Flash lights

Fotobunky
Photpcells

Príjmač
Receiver

Kódová klávesnica
Code keypad

Čítačka kariet
Card reader

Kľúčový ovládač
Key selector

GSM prijímač
GSM receiver

Power supply
Záložná batéria

FLO2R

FLO4R

FLO2RE

FLO4RE

ON-2E

ON-4E

ON3EBD

INTI2

INTI2B

INTI2R

INTY2Y

ELDC EPMB

OXIBD

SMX2R

IT4WIFI

EDSWG
ETP

ETPB

EKS

MOSE
- PS-124

VARIO-FL

MULTI-MOD-1SB
UNILED-YS -

MULTI-RECEIVER

MULTI-RECEIVER-
SMART-02

MULTI-RECEIVER-
SMART-03

- - -
MP/GSM-230-3G

MP/GSM-320-3G-
CLOUD

-



thermal expansion 0,02mm/1m/1°C68

m
at

er
ia

l

AISI304

nerezová 
oceľ

stal 
nierdzewna

rozsdamentes 
acél

stainless 
steel Edelstahl INOXAISI316

S.S. 2205

CORTEN corten oceľ corten stal corten acél corten steel Cortenstahl corten

ALUMINIUM hliník aluminium alumínium aluminium Aluminium aluminium

ZAMAK
zliatina 
Zn+Al

stop cynku i 
aluminium

Zn+Al 
ötvözet ZAMAC Zinkdruckguss alliage 

 Zn+Al

Fe železo żelazo vas iron Eisen fer

Zn zinok cynk cink zinc Zink zinc

Brass mosadz miedź sárgaréz brass Messing laiton

PVC PVC PVC PVC PVC PVC PVC

Rubber guma guma gumi rubber Gummi gomme

Beech buk buk bükk beech Buche hêtre

Oak dub dąb tölgy oak Eiche chêne

Spruce smrek świerk lucfenyő spruce Fichte épicéa

VSG/ESG sklo szkło üveg glass Glas verre

fin
is

h/
ef

fe
ct

satin brus 
K320

szlif 
  K320

szálcsiszolt 
 K320

brushed 
K320

geschliffen 
 K320

brossé 
 K320

si silver l strieborný srebro ezüst silver Silber argent

polish lesk polerowany tükör 
polírozott polished poliert poli

raw surový surowy nyers raw roh brossé

natural nebrúsený neszlifovany natúr rough ungeschliffen non-brossé

INOX nerez nierdzewny rozsdamentes inox Edelstahl inox

ELOX eloxovaný anodowany eloxált elox Eloxiert anodisé

potrebné 
úpravy

niezbędne 
przystosowanie

szükséges 
módosítás

necessary 
modification

Anpassung ist 
notwendig

modification 
nécessaire

not assembled
nezmontované niezłożone nem 

 összeszerelt
not 

 assembled unmontiert non 
 assemblé

približný 
rozmer

przybliżone 
wymiary közelítő méretek approximate 

dimension

die Abmes-
sungen sind 

ungefähr

dimensions 
approximatives

bestseller bestseller legjobban 
eladott best seller Bestseller best-seller

novinka 
2022

nowość 
2022

új 
2022

new 
 2022

Neuheit 
 2022

nouveau 
2022

LED

TEST / CERTIFICATE

SWEDEN

TESTED BY

RISE
TESTING

INOX
ALUMINIUM ZAMAK

AISI304 AISI316 S.S. 2205

  

INOX
ALUMINIUM ZAMAK

AISI304 AISI316 S.S. 2205



INOX
ALUMINIUM ZAMAK

AISI304 AISI316* S.S. 2205

  

INOX
ALUMINIUM ZAMAK

AISI304 AISI316 S.S. 2205

  

Cl
NaCl

INOX
ALUMINIUM ZAMAK

AISI304 AISI316 S.S. 2205

    

INOX
ALUMINIUM ZAMAK

AISI304 AISI316 S.S. 2205

   

IN

CHEMIA

INOX AISI 304 
- vhodný do prostredia bez chlóru a oxidu siričitého
INOX AISI 316
- vhodný do prostredia s vysokým obsahom chlóru, oxidu siričitého,  
vysokej vlhkosti, do prímorských regiónov
INOX S.S. 2205- Vhodný do prostredia s vysokým obsahom chlóru, 
oxidu siričitého, vysokej vlhkosti s prítomnosťou soli na pobreží a na 
voľnom mori.

INOX AISI 304 
- suitable for the environment without chlorine and sulphur dioxide 
load
INOX AISI 316
- suitable for the environment with a high content of chlorine, sulphur 
dioxide load, high humidity, coastal regions
INOX S.S. 2205 
- Suitable for environments with a high content of chlorine, sulfur 
dioxide, high humidity with salt on the coast and on the high seas.

INOX AISI 304 
-  przeznaczone dla środowiska bez dwutlenku siarki oraz chloru
INOX AISI 316
- przeznaczone dla środowiska o wysokiej zawartości dwutlenku siarki 
oraz chloru, wysokiej wilgotność oraz w regionach nadmorskie
INOX S.S. 2205
- Nadaje się do środowisk o wysokiej zawartości chloru, dwutlenku 
siarki, o wysokiej wilgotności, o dużym zasoleniu, w strefach nadmor-
skich, lub w bezpośrednim kontakcie z wodą morską.

INOX AISI 304 
-  geeignet in Umgebung ohne Chlor und Schwefeldioxid
INOX AISI 316
- geeignet in Umgebung mit einem hohen Gehalt an Chlor, Schwefel-
dioxid oder in Umgebung mit hoher Luftfeuchtigkeit, in Küstenregi-
onen
INOX S.S. 2205
- geeignet für Umgebungen mit hohem Gehalt an Chlor, Schwefeldi-
oxid und hoher Luftfeuchtigkeit mit Salz an der Küste und auf hoher 
See

INOX AISI 304 
 - Convenable pour les environnements sans chlore et/ ou bioxyde 
de soufre
INOX AISI 316
- Convenable pour les environnements avec un contenu élevé de 
chlore et/ ou de bioxyde de soufre, une grande humidité, régions 
maritimes
INOX S.S. 2205
- Convenable au milieu avec un contenu élevé du dioxyde de soufre, 
ainsi qu‘au milieu humide contentant du sel, tel que le bord de mer ou 
la mer ouverte.

INOX AISI 304 
- alkalmazható olyan környezetben, ahol nincs klór és kén-dioxid 
terhelés 
INOX AISI 316
- alkalmazható olyan környezetben, ahol magas a klór-, vagy kén-
dioxid terhelés, magas a páratartalom, tengerparti régiókban
INOX S.S. 2205
-„Alkalmazható magas klór-, kén-dioxid-, sós nedvességtartalmú 
környezetben, valamint  tengerparton és a nyílt tengeren“.

právo na technické, tvarové a rozmerové zmeny vyhradené/ rights to technical, shape and dimensional changes reserved 

* only mirror finish (polished)

25 500 m2

Spoločnosť UMAKOV už viac ako 30 rokov vyrába a predá-
va komponenty pre nerezové a sklenené zábradlia.
Spoločnosť má širokú sieť partnerov a pobočiek na Sloven-
sku, v Českej republike, Poľsku a Maďarsku. Má vlastnú pro-
dukciu, obchod a administratívu na ploche viac ako 25 000 m². 
Vysoká kvalita, rýchle doručenie, viac ako 5000 druhov 
komponentov na sklade a profesionálna technická podpora 
robí v súčasnosti z  UMAKOV-u jedného z lídrov Európske-
ho trhu v predaji komponentov pre zábradlia.
Naše portfólio obsahuje sklenené systémy, prístrešky, scho-
dy, bránové príslušenstvo a kované komponenty.

Przez ponad 30 lat firma UMAKOV produkuje i sprzedaje 
elementy ze stali nierdzewnej oraz składniki dla balustrad 
szklanych
Działalność firmy Umakov jest realizowana w ich własnych 
oddziałach oraz sieciach partnerów na Słowacji, w 
Czechach, Polsce i na Węgrzech. Firma posiada również 
własną produkcję, przestrzenie handlowe oraz administra-
cyjne o łącznej powierzchni około 25.000 m².
Najwyższa jakość, szybka dostawa, ponad 5000 typów 
komponentów na magazynie oraz profesjonalne wsparcie 
techniczne sprawia z firmy UMAKOV jednego z liderów na 
rynku europejskim w sprzedaży elementów do balustrad 
nierdzewnych.
Nasza oferta obejmuje również systemy szklane, zadasze-
nia, schody, bramy oraz elementy kute.

Az UMAKOV több, mint 30 éve gyárt és értékesít rozsda-
mentes acél-, és üvegkorlát elemeket.
Az UMAKOV üzleti tevékenységét saját leányvállalatain és 
partner hálózatain keresztül gyakorolja Szlovákiában, Cse-
hországban, Lengyelországban és Magyarországon.
A cég saját gyártási tevékenysége, kereskedelmi és admin-
isztratív központja mintegy 25 000 m² alapterületen helyez-
kedik el.
Csúcs minőség, gyors szállítás, több, mint 5000 rak-
tárkészleten lévő termék, valamint professzionális műszaki 
támogatás teszik az UMAKOV-ot ma Európa egyik vezető 
vállalatává a korlát elemek területén.
Választékunkban megtalálhatók  még üveg rendszerek, 
előtetők, lépcsők, kaputechnika és kovácsoltvas termékek.

For over 30 years UMAKOV has produced and sold compo-
nents for stainless steel and glass railings.
Umakov business activities are carried out in their own 
branches and network of partners in Slovakia, Czech Re-
public, Poland and Hungary. Company also owns their own 
production, commercial and administrative spaces with total 
area of about 25 000 m².
Top quality, fast delivery, over 5000 types of components in 
stock and professional technical support makes UMAKOV 
today one of Europe‘s market leaders in railing components.
Our portfolio also includes glass systems, canopies, stairs, 
gate accesories and forged components.

Firma UMAKOV produziert und verkauft die Komponente 
für Edelstahl- und Glasgeländer schon länger als 30 Jahren. 
UMAKOV hat Partnern und Filialen in der Slowakei, in der 
Tschechischen Republik, in Polen und Ungarn. Das Un-
ternehmen verfügt über eigene Produktion, Geschäft und 
Betriebsverwaltung auf der Fläche von ca 25 000 m².
Hohe Qualität, schnelle Lieferung, mehr als 5000 Arten von 
Komponenten auf dem Lager und professionelle technische 
Unterstützung , das alles macht von UMAKOV einer der 
europäischen Marktführer im Verkauf von Komponenten für 
Geländer.  
Unser Portfolio umfasst Glassysteme, Vordachsysteme, 
Treppen, Tor Zubehör und Schmiedeteile.

Depuis plus de 30 ans UMAKOV produit et vend des com-
posants pour les garde-corps inox et verre.
La société UMAKOV dispose d’un réseau de filiales et 
partenaires en Slovaquie, République Tchèque, Pologne et 
Hongrie. Ella possède ses propres espaces de production, 
de vente, au sein de son siège administratif, d’une surface 
d’environ 25 000 m².
Haute qualité, livraison rapide, plus de 5000 types de 
composants en stock et une assistance technique profes-
sionnelle, font aujourd’hui d’UMAKOV un des leaders eu-
ropéens dans le secteur des composants de garde-corps.
Notre gamme comprend également des systèmes en verre, 
auvents, escaliers, accessoires pour portails et pièces 
forgées.

umakov.sk

umakov.cz

umakov.pl

umakov.hu

+421 51 488 19 00
info@umakov.sk

SERVIS
+421 910 262 820
+421 911 383 645
servis@umakov.sk

KROMPACHY
Hornádska 337
053 42

+421 911 455 347

krompachy@umakov.sk

+48 32 202 19 29
info@umakov.pl

GDAŃSK
Pomorskie
Warmińsko-mazurskie
Kujawsko-pomorskie
Zachodniopomorskie

+48 735 419 155
+48 538 110 766
gdansk@umakov.pl

Ruda �l¹ska
Al. Rodziny Gurtlerów 81
41-700

+48 517 534 197
umakov@umakov.pl

+ 420 212 240 751
info@umakov.cz

SERVIS
+420 778 001 899
+420 775 455 079
+420 775 061 735
servis@umakov.cz

PRAHA - OTICE
Otice 40
251 63 Strančice

+420 608 313 799

praha@umakov.cz

+36 28 920 870
info@umakov.hu

BUDAPEST
Csonka János út.1
2142 Nagytarcsa

+ 36 305 662 474
hungary3@umakov.hu

umakov.hu
megrendeles@umakov.hu

+ 36 306 446 653
+ 36 305 754 157
+ 36 307 572 009

umakov.sk
objednavky@umakov.sk

REKLAMÁCIE
+421 911 915 952

reklamacie@umakov.sk

BRATISLAVA
Rožňavská 1
831 04

+421 917 739 412
+421 904 644 378
ba@umakov.sk

umakov.pl
zamowienie@umakov.pl

RADOM
Podlaskie
Lubelskie
Mazowieckie
Świętokrzyskie
Łódzkie

+48 664 855 695

radom@umakov.pl

umakov.cz
objednavky@umakov.cz

REKLAMACE
+421 911 915 952

reklamace@umakov.cz

ŘÍČANY U BRNA
Nám. Osvobození 63
664 82

+420 608 743 164
+420 731 733 989
brno@umakov.cz

+421 908 944 153
+421 910 262 707
+421 908 986 081

ÚČTOVNÉ ODDELENIE
+421 911 080 261
+421 911 750 326
uctovne@umakov.sk

BANSKÁ BYSTRICA
Zvolenská cesta 17
974 05

+421 905 304 548

bb@umakov.sk

+48 517 534 197
+48 500 110 199
+48 668 494 940

NOWY SACZ
Małopolskie
Podkarpackie
Śląskie

+48 510 696 236

nowysacz@umakov.pl

+420 608 743 164
+420 775 455 079
+420 608 313 799

ÚČETNÍ ODDELĚNÍ
+420 778 065 444
+420 608 313 799

ucetni@umakov.cz

HRADEC KRÁLOVÉ
Náchodská 607
503 01

+420 778 001 899
+420 774 338 660
hk@umakov.cz

MARKETING
+421 915 781 139

marketing@umakov.sk

POZNAŇ
Lubuskie
Wielkopolskie
Dolnośląskie
Opolskie

+48 602 335 611

poznan@umakov.pl

i

i

i

i

umakovshop.com
+421 915 093 533 
europe@umakovshop.com

umakov.de
+ 421 907 684 761 
umakov@umakov.de

umakov.it
+ 39 348 349 0444
umakov@umakov.it



69

25 500 m2

Spoločnosť UMAKOV už viac ako 30 rokov vyrába a predá-
va komponenty pre nerezové a sklenené zábradlia.
Spoločnosť má širokú sieť partnerov a pobočiek na Sloven-
sku, v Českej republike, Poľsku a Maďarsku. Má vlastnú pro-
dukciu, obchod a administratívu na ploche viac ako 25 000 m². 
Vysoká kvalita, rýchle doručenie, viac ako 5000 druhov 
komponentov na sklade a profesionálna technická podpora 
robí v súčasnosti z  UMAKOV-u jedného z lídrov Európske-
ho trhu v predaji komponentov pre zábradlia.
Naše portfólio obsahuje sklenené systémy, prístrešky, scho-
dy, bránové príslušenstvo a kované komponenty.

Przez ponad 30 lat firma UMAKOV produkuje i sprzedaje 
elementy ze stali nierdzewnej oraz składniki dla balustrad 
szklanych
Działalność firmy Umakov jest realizowana w ich własnych 
oddziałach oraz sieciach partnerów na Słowacji, w 
Czechach, Polsce i na Węgrzech. Firma posiada również 
własną produkcję, przestrzenie handlowe oraz administra-
cyjne o łącznej powierzchni około 25.000 m².
Najwyższa jakość, szybka dostawa, ponad 5000 typów 
komponentów na magazynie oraz profesjonalne wsparcie 
techniczne sprawia z firmy UMAKOV jednego z liderów na 
rynku europejskim w sprzedaży elementów do balustrad 
nierdzewnych.
Nasza oferta obejmuje również systemy szklane, zadasze-
nia, schody, bramy oraz elementy kute.

Az UMAKOV több, mint 30 éve gyárt és értékesít rozsda-
mentes acél-, és üvegkorlát elemeket.
Az UMAKOV üzleti tevékenységét saját leányvállalatain és 
partner hálózatain keresztül gyakorolja Szlovákiában, Cse-
hországban, Lengyelországban és Magyarországon.
A cég saját gyártási tevékenysége, kereskedelmi és admin-
isztratív központja mintegy 25 000 m² alapterületen helyez-
kedik el.
Csúcs minőség, gyors szállítás, több, mint 5000 rak-
tárkészleten lévő termék, valamint professzionális műszaki 
támogatás teszik az UMAKOV-ot ma Európa egyik vezető 
vállalatává a korlát elemek területén.
Választékunkban megtalálhatók  még üveg rendszerek, 
előtetők, lépcsők, kaputechnika és kovácsoltvas termékek.

For over 30 years UMAKOV has produced and sold compo-
nents for stainless steel and glass railings.
Umakov business activities are carried out in their own 
branches and network of partners in Slovakia, Czech Re-
public, Poland and Hungary. Company also owns their own 
production, commercial and administrative spaces with total 
area of about 25 000 m².
Top quality, fast delivery, over 5000 types of components in 
stock and professional technical support makes UMAKOV 
today one of Europe‘s market leaders in railing components.
Our portfolio also includes glass systems, canopies, stairs, 
gate accesories and forged components.

Firma UMAKOV produziert und verkauft die Komponente 
für Edelstahl- und Glasgeländer schon länger als 30 Jahren. 
UMAKOV hat Partnern und Filialen in der Slowakei, in der 
Tschechischen Republik, in Polen und Ungarn. Das Un-
ternehmen verfügt über eigene Produktion, Geschäft und 
Betriebsverwaltung auf der Fläche von ca 25 000 m².
Hohe Qualität, schnelle Lieferung, mehr als 5000 Arten von 
Komponenten auf dem Lager und professionelle technische 
Unterstützung , das alles macht von UMAKOV einer der 
europäischen Marktführer im Verkauf von Komponenten für 
Geländer.  
Unser Portfolio umfasst Glassysteme, Vordachsysteme, 
Treppen, Tor Zubehör und Schmiedeteile.

Depuis plus de 30 ans UMAKOV produit et vend des com-
posants pour les garde-corps inox et verre.
La société UMAKOV dispose d’un réseau de filiales et 
partenaires en Slovaquie, République Tchèque, Pologne et 
Hongrie. Ella possède ses propres espaces de production, 
de vente, au sein de son siège administratif, d’une surface 
d’environ 25 000 m².
Haute qualité, livraison rapide, plus de 5000 types de 
composants en stock et une assistance technique profes-
sionnelle, font aujourd’hui d’UMAKOV un des leaders eu-
ropéens dans le secteur des composants de garde-corps.
Notre gamme comprend également des systèmes en verre, 
auvents, escaliers, accessoires pour portails et pièces 
forgées.

umakov.sk

umakov.cz

umakov.pl

umakov.hu

+421 51 488 19 00
info@umakov.sk

SERVIS
+421 910 262 820
+421 911 383 645
servis@umakov.sk

KROMPACHY
Hornádska 337
053 42

+421 911 455 347

krompachy@umakov.sk

+48 32 202 19 29
info@umakov.pl

GDAŃSK
Pomorskie
Warmińsko-mazurskie
Kujawsko-pomorskie
Zachodniopomorskie

+48 735 419 155
+48 538 110 766
gdansk@umakov.pl

Ruda �l¹ska
Al. Rodziny Gurtlerów 81
41-700

+48 517 534 197
umakov@umakov.pl

+ 420 212 240 751
info@umakov.cz

SERVIS
+420 778 001 899
+420 775 455 079
+420 775 061 735
servis@umakov.cz

PRAHA - OTICE
Otice 40
251 63 Strančice

+420 608 313 799

praha@umakov.cz

+36 28 920 870
info@umakov.hu

BUDAPEST
Csonka János út.1
2142 Nagytarcsa

+ 36 305 662 474
hungary3@umakov.hu

umakov.hu
megrendeles@umakov.hu

+ 36 306 446 653
+ 36 305 754 157
+ 36 307 572 009

umakov.sk
objednavky@umakov.sk

REKLAMÁCIE
+421 911 915 952

reklamacie@umakov.sk

BRATISLAVA
Rožňavská 1
831 04

+421 917 739 412
+421 904 644 378
ba@umakov.sk

umakov.pl
zamowienie@umakov.pl

RADOM
Podlaskie
Lubelskie
Mazowieckie
Świętokrzyskie
Łódzkie

+48 664 855 695

radom@umakov.pl

umakov.cz
objednavky@umakov.cz

REKLAMACE
+421 911 915 952

reklamace@umakov.cz

ŘÍČANY U BRNA
Nám. Osvobození 63
664 82

+420 608 743 164
+420 731 733 989
brno@umakov.cz

+421 908 944 153
+421 910 262 707
+421 908 986 081

ÚČTOVNÉ ODDELENIE
+421 911 080 261
+421 911 750 326
uctovne@umakov.sk

BANSKÁ BYSTRICA
Zvolenská cesta 17
974 05

+421 905 304 548

bb@umakov.sk

+48 517 534 197
+48 500 110 199
+48 668 494 940

NOWY SACZ
Małopolskie
Podkarpackie
Śląskie

+48 510 696 236

nowysacz@umakov.pl

+420 608 743 164
+420 775 455 079
+420 608 313 799

ÚČETNÍ ODDELĚNÍ
+420 778 065 444
+420 608 313 799

ucetni@umakov.cz

HRADEC KRÁLOVÉ
Náchodská 607
503 01

+420 778 001 899
+420 774 338 660
hk@umakov.cz

MARKETING
+421 915 781 139

marketing@umakov.sk

POZNAŇ
Lubuskie
Wielkopolskie
Dolnośląskie
Opolskie

+48 602 335 611

poznan@umakov.pl

i

i

i

i

umakovshop.com
+421 915 093 533 
europe@umakovshop.com

umakov.de
+ 421 907 684 761 
umakov@umakov.de

umakov.it
+ 39 348 349 0444
umakov@umakov.it



thermal expansion 0,02mm/1m/1°C70

FRAMELESS GLASS 
RAILINGS

F
R

A
M

E
LE

S
S

 G
LA

S
S

 R
A

ILIN
G

S
2

0
2

2
/2

0
2

3

2022/2023

1993-2023
YEARS


